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Question Number : 1 Question Id : 59445943626 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Where is the "Losoong" festival celebrated in India?
Options :

1. * Arunachal Pradesh

2. % Kerala

3. % Tamil Nadu

4. ¥ Sikkim

Question Number : 1 Question Id : 59445943626 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



YR B ARG 3T HaT H-T STl 82
Options :

1. % 3N TR

2. % I

3. % g

4. ¢ THfdpy

Question Number : 2 Question Id : 59445943627 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In what district of Andhra Pradesh is the Kuchipudi village located?
Options :

1. ¥ Amaravati

2. % Kurnool

3. % Krishna

4. ® Vishakhapatnam

Question Number : 2 Question Id : 59445943627 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Syt T1ia sy U & ford foret 7 e &
Options :

1. % AR

2. % G

3. ¥ U

4. % famramgTTH

Question Number : 3 Question Id : 59445943628 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is the folk dance of Maharashtra?



Options :

1. # Kolakattam
2. # Karakattam
3. ¥ Bhangra

4. ¥ Lavani

Question Number : 3 Question Id : 59445943628 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFofifed & ¥ 1 HERTY &1 I Td 82
Options :

1. % HIADbSH

2. ® PRIDHGH

3. % YN

4. Uil

Question Number : 4 Question Id : 59445943629 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Fiscal Responsibility and Budget Management Act was enacted in which year?
Options :

1. % 2006

2. % 2000

3. % 2014

4. 2003

Question Number : 4 Question Id : 59445943629 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fad IWSIRIG IR ol ydy= gy foog an & srfafrafirg fosar mar ur

Options :




1. *® 2006
2. % 2000
3. %2014
4. % 2003

Question Number : 5 Question Id : 59445943630 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When did the practice of showing budget deficit discontinue in India?
Options :

1. % 2014-15

2. % 1997-98

3. % 2002-03

4. % 2010-11

Question Number : 5 Question Id : 59445943630 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YR H Soic 9Tel fodM &1 U041 & d §¢ §3?
Options :

1. #® 2014-15

2. ¥ 1997-98

3. ¥ 2002-03

4. % 2010-11

Question Number : 6 Question Id : 59445943631 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What material is used for coating Non-stick cooking utensils?
Options :

1. ¥ Teflon

2. % PVC



3. # Black Paint
4. # polystyrene

Question Number : 6 Question Id : 59445943631 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT1-Ree W1 U™ & =1 B HIfTT dx & 1o [ wreht &1 IuaT faar S &2
Options :

1. ¢ CHIHA

2. % Uit

3. % P

4. % Ui

A

Question Number : 7 Question Id : 59445943632 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tamarind is the natural source of which of the following acids?
Options :

1. % Tartaric acid

2. ® Acetic acid

3. % Oxalic acid

4. # Oxalic acid & Acetic acid

Question Number : 7 Question Id : 59445943632 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g FEfaRed B 9 fg ornd &1 Ui fad aid 82

Options :

1. ¢ TCR® 3
2. % uffes o
3. % 3iTfeldh 3



4. % ITfelsh 31 Ud URIfedh 3

Question Number : 8 Question Id : 59445943633 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When was the Indus Water Treaty signed between India and Pakistan?
Options :

1. ® 1970

2. % 1983

3. % 1947

4. ¥ 1960

Question Number : 8 Question Id : 59445943633 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR 3R U™ & aitd g oa I TR gX1&R & foa 1am o1
Options :

1. % 1970

2. % 1983

3. % 1947

4.+ 1960

Question Number : 9 Question Id : 59445943634 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following is the World's largest and fastest growing Delta?
Options :

1. % Kaveri Delta

2. % Godavari Delta

3. ¥ Sunderban Delta

4. # Krishna Delta



Question Number : 9 Question Id : 59445943634 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafiRad 7 9 o I1 3y &1 a3 971 3R Ia9 doit T g ardl Seel 82
Options :

1. % P’ Secl

2. % TR el

3. ¢ o sel

4. % P geel

Question Number : 10 Question Id : 59445943635 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year did Humayun begin his rule as the Mughal emperor?
Options :

1. % 1530

2. % 1532

3. % 1534

4. % 1536

Question Number : 10 Question Id : 59445943635 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gAY A TFT GHTC & U H 30T I ford a8 IR ot U2
Options :

1. ¥ 1530

2. % 1532

3. % 1534

4. % 1536

Question Number : 11 Question Id : 59445943636 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following movements was Basavanna known for?
Options :

1. # Vaishnavism

2. % Virashaivism

3. # Buddhism

4. % Jainism

Question Number : 11 Question Id : 59445943636 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST D FafeRad 7 9 fod sfighe & for ST T um
Options :

1. % qUig

2. ¢ IR

3. % g

4. % S

Question Number : 12 Question Id : 59445943637 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year was the Hindu College established in Banaras?
Options :

1. % 1785

2. % 1767

3. % 1654

4. % 1791

Question Number : 12 Question Id : 59445943637 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



SRY H fg Fickel ! RimHT fow av gs b
Options :
1. % 1785
2. % 1767
3. % 1654
4.4 1791

Question Number : 13 Question Id : 59445943638 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In what year was the Citizenship Act enacted in India?
Options :

1. * 1950

2. % 1947

3. ¥ 1955

4. % 1948

Question Number : 13 Question Id : 59445943638 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR H AFTRasar iy fog af a=m mar ur
Options :

1. # 1950

2. % 1947

3. ¥ 1955

4. % 1948

Question Number : 14 Question Id : 59445943639 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What Article of the Indian Constitution provides for organization of Village Panchayats?
Options :



1. % 39
2. % 39A
3. % 48
4. 40

Question Number : 14 Question Id : 59445943639 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR AU &7 D AT 3fJwse TH Uaridl & 16 & g TeH BT 82
Options :

1. % 39

2. % 39A

3. % 48

4. ¥ 40

Question Number : 15 Question Id : 59445943640 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following received the Nobel Peace Prize 20207
Options :

1. # World Health Organization

2. % United Nations Security Council

3. % World trade organization

4. ¥ World Food Programme

Question Number : 15 Question Id : 59445943640 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafad o 9 frd Aied ifd REBR 2020 U g3
Options :

1. % fqy TRy e



2. % HYad Y Y& uRug
3. % g%y OUR W84
4. ¢ T3y @R HrdwHH

Question Number : 16 Question Id : 59445943641 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the author of the book - Indians: A Brief History of a Civilization?
Options :

1. ¥ Namit Arora

2. % Ramchandra Guha

3. % Neha sinha

4. % NV Ramana

Question Number : 16 Question Id : 59445943641 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafiad § O o Rae 3feaw: Tsiw R offr © Rifaemgorer & oa 82
Options :

1. ¢ 90d 3RRT

2. % A BT

3. % g1 Ry

4. % T THAT

Question Number : 17 Question Id : 59445943642 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who is the 48th Chief Justice of India?
Options :

1. ¥ SA Bobde

2. % DY Chandrachud



3. % NV Ramana
4. # Deepak Misra

Question Number : 17 Question Id : 59445943642 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YR & 489 T TN B 87
Options :

1. ® THUSITS

2. % ST dads

3. ¢ Tl THAT

4. % e faem

Question Number : 18 Question Id : 59445943643 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which State was declared as a model state for Van Dhan Vikas Yojana?
Options :

1. # Mizoram

2. % Manipur

3. % Meghalaya

4. % Sikkim

Question Number : 18 Question Id : 59445943643 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

a1 o faspTa AT & fore for g &1 sirest I e foran mam
Options :

1. % TRy

2. ¢ HiOIR

3. % TR



4. ® RfemH

Question Number : 19 Question Id : 59445943644 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which cricketer is known to have the highest batting average in International Test Cricket?
Options :

1. % Steve Smith

2. % Virat Kohli

3. ¥ Don Bradman

4. # Sachin Tendulkar

Question Number : 19 Question Id : 59445943644 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

for g fobdreR 1 SIS ¢ fobdbe H Yol STGT Seciaroit SHIId o fory ST Srell &2
Options :

1. % W9 ey

2. % foRTe B

3. ¥ S S8

4. % G dgamx

Question Number : 20 Question Id : 59445943645 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tennis player Roger Federer belongs to which of the following countries?
Options :

1. # Serbia

2. ¥ Switzerland

3. % Spain

4. % USA



Question Number : 20 Question Id : 59445943645 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

< Rt IoR ek Fafied & 9 fov =1 9 Sefia g2
Options :

1. % e

2. ¢ RaeeRds

3. % W
4. % 3R
General Ability
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Group Id : 5944591008
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
General Ability
Section Id : 5944591733
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20



Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1
Sub-Section Id : 5944592017
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 59445943646 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From the given responses, find the missing term in the series.

EJ7,HP10,KV13,?
Options :

1. ¥ NBI16

2. % NGIl6

3. * SAl6

4. = BD17

Question Number : 21 Question Id : 59445943646 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fGT T fasmedl # 9, 907t # g UG &1 J1d HR|

EJ7 ,HP10,KV13,?
Options :

1. ¥ NB16

2. % NGIl6

3. % SAl6

4. % BD17

Question Number : 22 Question Id : 59445943647 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From the given responses, find the missing letter cluster in the series.



WVU, RQP, MLK, ?
Options :
1. ¥ HGF
2. % AVF
3. % ADC
4. % SVD

Question Number : 22 Question Id : 59445943647 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau e fdeweal & 4, Juft § qu 3eR T9g &1 I1d B

WVU, RQP, MLK, ?
Options :
1. ¥ HGF
2. % AVF
3. % ADC
4. % SVD

Question Number : 23 Question Id : 59445943648 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the odd one out from the given alternatives.
Options :

1. % CIVIC

2. % LEVEL

3. ¥ COSMIC

4. % REVIVER

Question Number : 23 Question Id : 59445943648 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
31&RT & U T g ¥ fawd ug &1 |
Options :

1. % CIVIC

2. % LEVEL

3. ¥ COSMIC

4. ¥ REVIVER

Question Number : 24 Question Id : 59445943649 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word pair in which the two words are related in the same way as are the two words in the following word pair.

Goldsmith : Gold
Options :

1. ¥ Carpenter : Wood
2. # Singer : Piano

3. % Postman : Delivery

4. % Stone : statue

Question Number : 24 Question Id : 59445943649 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Y Wec- T BT TG B oH ¢ Ueg 34T ave J et & o fob feforiad wreg-gm o < wieg Taftia §
AR : i

Options :
1.#6@%:@
2. % TS - {4
3. % gifchar : faarum
4. % QR : gfadm



Question Number : 25 Question Id : 59445943650 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the related letters from the given alternatives.

AZB :BYC::CXD:
Options :

1. ¥ DWE

2. # DEF

3. % YOG

4. # FRE

Question Number : 25 Question Id : 59445943650 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

few TTe fasedl & § Hefid sierl &1 9o B |
AZB :BYC::CXD:

Options :

1. ¥ DWE

2. % DEF

3. ¥ YOG
4. % FRE

Question Number : 26 Question Id : 59445943651 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code, ' GROWTH' is coded as '594617' and "THYRIDE' is coded as '1789302'. In the same code how will ' WORTHY ' be coded as?
Options :

1. % 496178

2. % 649120

3.9 649178

4. % 640278



Question Number : 26 Question Id : 59445943651 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T FAf3d He U &, 'GROWTH ' &1 '594617' 3R ' THYRIDE ' &1 '1789302' & U H foral ST § | A B HTS & ' WORTHY ' &1
feram S

Options :

1. % 496178

2. % 649120

3. ¥ 649178

4. % 640278

Question Number : 27 Question Id : 59445943652 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a class among the passed students, Ruhi is 22nd from the top and Rashim, who is 5 ranks below Ruhi is 34th from the bottom. All the students
from the class appeared for an examination. If the ratio of the students who passed in the examination to those who failed is 4 : 1 for the class,
how many students were there in the class?

Options :
1. ® 90
2. % 60
3.¥ 75
4. % 80

Question Number : 27 Question Id : 59445943652 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP FHef U S0 BB A 9, 6! SR F 220 RIF W 3R IRM, S 61 F 5 36 A &, -1 T 343 M R g | H&m 8 Tt e A w_ien &
ot | I BT o uter o il gU 3R 9 S STl §U, SHHT 3UTd 4« 1 8, H&l & i foba- S A 2

Options :

1. % 90

2. % 60




3.¥75
4. % 80

Question Number : 28 Question Id : 59445943653 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

X, Y, Z, P, Q and R are sitting in a row facing north. X is the neighbour of Y and P. Q is the neighbour of Z and R. P is to the right of X and P and
Z are immediate neighbours.

Then how many persons are between X and Q?
Options :

1. ¥ Two

2. % Four

3. % Three

4. % One

Question Number : 28 Question Id : 59445943653 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

X,Y,Z,P,Q 3R RIS Ufdd A TR P SIRTA RSP A &1 X,Y SR P HT ISR 81 Q, Z SRR BTUSRA § | P, X P g 3R g U P 3R
7 T TR & Fdear TSRi g1

X 3R Q & 7 fbd e 82
Options :

.Y a

2. % R

3. %

4, % U

Question Number : 29 Question Id : 59445943654 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the question below, there are two statements followed by four conclusions given in options. You have to take the given statements to be true



even if they seem to be at variance with commonly known facts and then decide which of the given conclusion logically follow(s) from the given
statements.

Statements:
No cake is a bun.
No bun is a pen.

Options :

1. # Some cakes are pens

2. # Some pens are not cakes
3. % All cakes are pens

4. ¥ No bun is cake

Question Number : 29 Question Id : 59445943654 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T feu T Uy H, & 37 & 916 fawed] & IR Fpd QU MU &1 Siue! T 7T Sl &1 I A1 6, Hal 81 o Jasnd adl o g Ui
gid 81 1 gt el 1 ufeu fOhr aa Fifore o fau U fsersl & § &1 A1 dhwTd $U I SR 3l 8, 918 J991d 9 3 H 8l

HY:
PIs PPb, 97 T8l g
HIg 99, 07 T8I ]

Options :

1. % $B HP, U8

2. % HJ U, FP Tel o
3. % gt e, U9

4. ¥ DS, D TS &

Question Number : 30 Question Id : 59445943655 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question below, there are two statements followed by two conclusions. You have to take the given statements to be true even if they seem
to be at variance with commonly known facts and then decide which of the given conclusion logically follow(s) from the given statements.

Statements:



All kid are Adult.
Some Adult are old.

Conclusion:
I. All old are kid.
II. Some kid are old.

Options :

1. ® If only conclusion I follows

2. % If only conclusion II follows

3. % Ifeither conclusion I or II follows

4. ¥ If neither conclusion I nor II follows

Question Number : 30 Question Id : 59445943655 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T ST T Uy & G HU 3R 39D a1 &l 56y U 7T § 1 31Ul 3T U HuHl ! 9 A1 § Wl 81 d Hasd ol § B Ueftd g1 81|
Tt Frem e & ufe T fihr g SIfoTe o fau 78 sl # ¥ &F 1 a0 ¥ 38R0l Rl 5, ITe vawd a2 & Wi gl

DHY-:
it =, I B
$6 ID, T & |

fm:

L. g gopf, 5= §1

IL $3 9, T 8 |

Options :

1. % g ad (s [ 3FITR0 HR1 §

2. % T Had (5HY 11 TR0 &l §

3. % gfe a1 fepe 1 37 11 SR okl §

4. e A A By 1 SR T 8 11 SR BT §

Question Number : 31 Question Id : 59445943656 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



In the question given, relations between different elements are shown in the statements. These statements are followed by two conclusions. Find
out which of the given conclusions follow(s) the given statements and select the correct alternative from the given choices.

Statement:
Q<B<P>R>A>C

Conclusions:
I.B>C
II.C<P

Options :

1. ® If only conclusion I follows

2. ¥ If only conclusion II follows

3. # If either conclusion I or conclusion II follows

4. % If neither conclusion I nor conclusion II follows

Question Number : 31 Question Id : 59445943656 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu Uy H, Yy A fAfie 3/qudl & o ey ol < T 81 HY & 915 &l ey feu 7w g1 R U 99 & 3nyR R st &
3T HIfo 3R Ifed I &1 gFHT|

hY:
Q<B<P>R>A>C

frp -
. B>C
I.C<P

Options :

1. % fe Paet sy | 3R BT R

2. ¢ TS Had B 11 SR Hal §

3. % g a1 <l freend 1 a1 Fseh 11 SFERur a1 8

4. % i A ql w1 3R 7 81 FshY 11 3ER0 =l &



Question Number : 32 Question Id : 59445943657 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the related number from the given alternatives.

147 : 741 ::236:632::869 :?
Options :
1. * 896
2. % 968
3. % 689
4. % 986

Question Number : 32 Question Id : 59445943657 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fau e fdewenl O § ddfdra Wem &l gt
147 :741::236:632::869 :?

Options :

1. # 896

2. ¥ 968

3. % 689

4. = 986

Question Number : 33 Question Id : 59445943658 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the missing number in the series given below.

2,3,6,15,42,?
Options :

1. % 84

2.9% 123



3. % 94
4. % 60

Question Number : 33 Question Id : 59445943658 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 < et 9oft o e e I 6% |

2,3,6,15,42,?
Options :

1. % 84

2.9% 123

3. % 94

4. % 60

Question Number : 34 Question Id : 59445943659 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If each circle represents a class of objects/ideas written below, then find out the answer figure which illustrates the best relationship among.

“Criminals, Pick-pocketers, Arsonists "
Options :

Q)

2.¥



©

4. %

Question Number : 34 Question Id : 59445943659 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

i YA I =il 4T 7T FRg3fl/faaR] &1 a=ifd 5, 1 98 IR SHTHTd 1 X Sl (19 § o IgaR T D G|
" ORI, STaH AR, TS B dlel”

Options :

()

2.¢



Question Number : 35 Question Id : 59445943660 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following figure, Rectangle represents Dogs, Triangle represents Stray dog, Hexagon represents Cat and circle represents Black cat. Which
set of numbers represents Dogs which are Black cat and cat?

1
3
[\
Options :
1. % 6,7
2.9 7
3.% 1,4

4.%9



Question Number : 35 Question Id : 59445943660 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Frofafea snefa §, omad Hi &1 gxifdl 8, YT STaRT Fal & a=idl 8, YeUo foceh &1 gifdl § 3R g el focet &I g-ifdr g1 3!
&1 B I G Tl DI G & ot Belt faeat 3R foeet g2

Options :
1. * 6,7
2.9 7
3.% 1,4
4.%9

Question Number : 36 Question Id : 59445943661 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

One morning Kush and Harshal were talking to each other face to face at a crossing. If Harshal's shadow was exactly to the left of Kush, which
direction was Kush facing?

Options :
1. # East
2. % West
3. % North



4. % South

Question Number : 36 Question Id : 59445943661 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP a8 I 3R 50 Th IRTE W ATHA-TTH 910 IR 38 A1 S g Bl RSTS , U & 31 a1s 3R A, O =1 o1 73 fpw fa=m & um
Options :

1. % gd

2. % Uigyg

3. ¢ FW

4. % &

Question Number : 37 Question Id : 59445943662 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related figure from the given alternatives.

Question figures:

EENEE
l_l"




2.
3. %

L
4, %

Question Number : 37 Question Id : 59445943662 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fraferiRad oy , fau e fament § wrafId sepfd & 9 33 |
3ol IMFfoET:

R ENEE
l_I"




1
|
1l

Question Number : 38 Question Id : 59445943663 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which answer figure will complete the pattern in the question figure?

Question figures:

Baay
<



Question Number : 38 Question Id : 59445943663 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HIF-Tt IR P, T MBI B YT B R B2

Options :

£

1. ¢



_v

AN

Question Number : 39 Question Id : 59445943664 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many triangles are there in the given figure?

Options :
1. %10
2.9 11
3.% 12
4. % 14

Question Number : 39 Question Id : 59445943664 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



&1 T1E 3Mrepfd H febe Bryer 82

Options :
1. % 10
2.¥ 11
3.% 12
4. % 14

Question Number : 40 Question Id : 59445943665 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Determine the option figure which is hidden inside the question figure.

Options :




3. %

4.9

Question Number : 40 Question Id : 59445943665 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 fAdhed SHIT BT A1 HITOTT o T HHTAd & 3R U g3 7

Options :

L« OB
7~

« AN

2.



Arithmetic Ability

Group Number : 3

Group Id : 5944591009
Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No

Arithmetic Ability

Section Id : 5944591734
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 5944592018
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 59445943666 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
What will come in the place of question mark (?) in the given expression?

40 percent of 540 + 182 = ? percent of 1200:
Note: For this question, discrepancy is found in question/answer. So,this

question is 1gnored for all candidates.
Options :

1.25

2.30

3.45

4.40

Question Number : 41 Question Id : 59445943666 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fou T ol H Uy g (2) o I IR &7 ST

540 T 40 GFCTRId + 182 = 1200 BT 2 UARId:
Note: For this question, discrepancy is found in question/answer. So,this

question is 1gnored for all candidates.
Options :

1.25

2.30

3.45

4.40

Question Number : 42 Question Id : 59445943667 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



What will come in the place of question mark (?) in the given expression?

(V45 + ¥/64) percent of 4600 =7

Options :
1. % 450
2. % 350
3. % 270
4.9 322

Question Number : 42 Question Id : 59445943667 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fou U o © Uy g (2) P RIF IR T ST

4600 T ( Va5 + Vo4 ) wftkr =2

Options :
1. % 450
2. % 350
3. % 270
4. 322

Question Number : 43 Question Id : 59445943668 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the largest fraction of the following fractions?
Options :
405
1. ® 312



85
58

g2
3 W 85

212
105

Question Number : 43 Question Id : 59445943668 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
foafaRad el d O ga9 g1 35" 91d o

Options :

405
| % 312

85
58

g2
3 W 85

212
105

Question Number : 44 Question Id : 59445943669 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

How many numbers are there from 30 to 280 (including both these numbers) which are divisible by either 5 or 7?
Options :

1. % 71

2. % 87

3. % 69

4.9%79

Question Number : 44 Question Id : 59445943669 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

30 9 280 (39 a1 a3l afed) & S fra- Ty g, s aray 5 a1 7 9 fauiia gid g2
Options :

1. ® 71

2. % 87

3. % 69

4. ¥ 79

Question Number : 45 Question Id : 59445943670 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The HCF and LCM of two numbers are 18 and 108 respectively. If the sum of the two numbers is 90, then find the difference between the both
numbers?

Options :
1. ® 36
2. % 27
3.4 18
4.%9

Question Number : 45 Question Id : 59445943670 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



&l T3 1 HETH THYAS SR AYTH JHTIA HH: 18 3R 108 § 1 Tfe S SBT3 &1 a7 90 &, <l GIHT SReATsHl o1 3R A1
PIfoTE?

Options :

1. % 36

2. % 27

3.9 18

4. % 9

Question Number : 46 Question Id : 59445943671 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A batsmen's average increased from 34 to 37 after scoring some runs in his 31st innings. Find the runs scored by him in his 31st innings.
Options :

1. # 87

2. %97

3. % 117

4. ¥ 127

Question Number : 46 Question Id : 59445943671 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

31 A U 56 39 91 & S U IeaialS B1 31¥d I 34  dghR 37 81 171 31 3 Ui & I gRT §1E T A 1 1 B |
Options :

1. % 87

2. % 97

3. % 117

4. ¥ 127

Question Number : 47 Question Id : 59445943672 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the percentage increase in the surface area of a cube if each edge is increased by 12.5 percent.



Options :

1. # 12.5 percent
2. # 25 percent
3. % 37.5 percent
4. ¥ 26.5 percent

Question Number : 47 Question Id : 59445943672 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e TP o9 B TP YT | 12.5 Ufa<rd &1 3fG 8l 8, a1 39D g8 8% d | g3 Wia=id gfa 1d B2
Options :

1. % 12,5 gfd=rd

2. % 25 Yfd=rd

3. % 37.5 Ufd=d

4. ¥ 26.5 gfd=rd

Question Number : 48 Question Id : 59445943673 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

45 litres of a mixture of milk and water contains 15 percent water. How much water must be added so as to make water 25 percent in the resultant
mixture ?

Options :

1. # 8 litres
2. ¥ 6 litres
3. % 4.5 litres
4. % 9 litres

Question Number : 48 Question Id : 59445943673 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Y 3R O o R80T o5 45 cffex # 15 Ufa=ra Uit gia ¢ | IO frsor & urt &1 25 ufa=rd a9 & forg foram urit fireman S anfee?

Options :



1. ® goflex
2. ¥ 6IeR
3. % 45dR
4. % 9@

Question Number : 49 Question Id : 59445943674 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Hritik bought a car with a 50 percent discount on the Cost price of the car. Had he got 60 percent discount, he would have saved Rs 100000.
Calculate the Cost price of the car.

Options :

1. ¥ Rs.10 lakhs
2. % Rs.12 lakhs
3. # Rs.16 lakhs
4. #® Rs.15 lakhs

Question Number : 49 Question Id : 59445943674 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rfd® 7 SR & BT T W 50 YA g & d1¢ HR W14l | afe I 60 Ufa=rd &1 e e, d 98 100000 T 201 Adl| R & Hd Tl
DI U DR

Options :

1. ¢ 10 ARG 39

2. % 12 ARG WY

3. % 16 ARG ¥W

4. % 15T TR

Question Number : 50 Question Id : 59445943675 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P and Q entered a partnership and invested in the ratio 4:9 and for time periods in the ratio 3:8. If P's share out of total profit is Rs. 332, what is
the total earned profit?



Options :

1. # Rs.2164
2. % Rs.2284
3. ¥ Rs.2324
4. ® Rs.2460

Question Number : 50 Question Id : 59445943675 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P 3R QUH ARIGRI H 4: 9 P U & A FRdl & qUTd 3 : 8 & I B GHY 3afy & forg o § 1 afe Fa AU & J P HT IR
332 %03 §, 1 $a sifold fosan mar ary feam g2

Options :

1. % 2164 ¥

2. % 2284 %0

3. 2324 %0

4. % 2460 TG

Question Number : 51 Question Id : 59445943676 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If Maria's age 10 years ago was half of her age 5 years hence, then what will be the age of maria after 2 years?
Options :

1. # 26 years

2. # 28 years

3. % 27 years

4. % 24 years

Question Number : 51 Question Id : 59445943676 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g 10 I8 Uge HIRAT BT 1Y 319 T 5 T 915 DT 3G BT 3Nl oY, o 2 aui a1e TRAT DT 31 -1 g1

Options :



1. % 26 a4
2. % 28 Y
3.¢ 273N
4. % 24799

Question Number : 52 Question Id : 59445943677 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Roli deposited Rs 15000 in IDFC bank which offers 6 percent interest rate which is compounded semi - annually. What amount will Roli get after
2 years?

Options :

1. % Rs.17217
2. % Rs.16882
3. #® Rs.17544
4, % Rs.16524

Question Number : 52 Question Id : 59445943677 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A 7 IDFC §F | 15000 ST ST {1 fordy TR I 6 U= <At fireret ¢ i ofef-anfes R IR Tshaiad aidl g1 2 I8 TG el i fava
RTIRT fieiit

Options :

1. % 1721730

2. ¥ 16882 3T

3. % 17544300

4. % 16524 309

Question Number : 53 Question Id : 59445943678 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A train crosses a person who is running towards the train with speed 10 m/s in 12 seconds. If the length of the train is 420 m, then what is the
speed of the train (in km/hr)?



Options :
1. * 60
2. % 45
3.4 90
4. % 50

Question Number : 53 Question Id : 59445943678 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

10 He/ A s Pt T T Teb SAfekT o1 Bl 3R Sl gU 3Tl & o ¢ 12 Jbs H UR Bl 31 A ST I dals 420 Hiex 8, A T 1 1fa
foret gt (fobetiex/ger H)o

Options :

1. % 60

2. % 45

3.4 90

4. % 50

Question Number : 54 Question Id : 59445943679 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Speed of a boat in standing water is 9 kmph and the speed of the stream 1s 1.5 kmph. A man rows to a place at a distance of 105 km and comes
back to the starting point. Find the total time taken by him ?

Options :

1. % 16 hours
2. % 18 hours
3. % 20 hours
4. % 24 hours

Question Number : 54 Question Id : 59445943679 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
38 §U UM H U A1d &1 71 9 fpet ufay det 3fR 41 bt 71fd 1.5 foedt ufd Her 81 T 3ireHt 105 Tl @t g IR U SRTE TR 71T § 3R



3T g UR a0 31T 8 | 39 gRI for T S 90T J1d HR?
Options :

1. % 164C

2. % 18%¢C

3. % 20€¢

4. ¥ 244C

Question Number : 55 Question Id : 59445943680 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

12 men can complete a work in 18 days. Find the time taken by 18 women to complete the same work provided that women are 25 percent less
efficient than that of men.

Options :

1. # 20 days
2. ¥ 16 days
3. % 15 days
4. % 18 days

Question Number : 55 Question Id : 59445943680 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

12 T3 U HTH B & H 18 & T 81 18 Algarsii GRT THM BRI R = o (o7 FordT a1 THT 1d B 9= b AT GBI D
g 25 Ufa=id &Y HRId 5l

Options :

1. % 20fam

2. ¢ 16fea

3. % 15fea

4. % 18faT

Question Number : 56 Question Id : 59445943681 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Radius of two cylinders are in the ratio 3 : 2 respectively and their heights are in the ratio 4 : 3 respectively. What is the respective ratio of their
volumes?

Options :
1. %3:2
2.% 2:1
3.%6:5
4. ¥ 3:1

Question Number : 56 Question Id : 59445943681 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& ST DI ST HHRT: 3 ¢ 2 & SIUTT H § 3R SAD! ST HHRL: 4 : 3 % AT H g | 3D SMAdH BT Faifdd U a1 g2

Options :

1.% 3:2
2.%2:1
3.%6:5
4. 3:1

Question Number : 57 Question Id : 59445943682 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In an equilateral triangle ABC, AD is a median and G is the centroid. If GD =
3+/3 cm. then what is the area of triangle ABC?

Options :
| % 723 e

> % 81 cm?

3 % 72cm?



L 8143 em?

Question Number : 57 Question Id : 59445943682 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
U THET ST ABC #. AD U AIMEIH AR G Fegeh 8| TG GD =3V3
AL, o BersT ABC T &TAhel Fohdlell 87

Options :
| % 7243 A

5w S1aE WA

s T2 EAL

4 v SLW3TE AL

Question Number : 58 Question Id : 59445943683 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Number of students appeared in TGT examination from five schools over the years



School —
Year
2004 650 | 760 | 820 | 800 | 780
2005 T00 | 740 | 860 | 780 | 740
2006 300 | BZ20 | 940 | 750 | 730
2007 750 | 880 | 920 | 840 | 790
2008 350 | B840 | 900 | 860 | 770

A B C D E

Number of students appeared from school E in 2004 is approximately what percent of the total number of students appeared from all the schools
together in that year?

Options :
1. % 12
2. % 28
3. % 15
4.+ 20

Question Number : 58 Question Id : 59445943683 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

auf # Ui wpal 9 SISl ulten § 961 a1l ol &1 g

ﬁ“ﬁ —F
a¥

2004 650 [ 760 | 820 | 800 [ 780
2005 700 [ 740 | 860 | 780 [ 740
2006 800 [ 820 [ 940 [ 750 | 730
2007 750 | 880 | 920 | 840 [ 790
2008 850 [ 840 [ 900 [ 860 | 770

A B C D E

2oo4ﬁ§3_¢r13@rﬂ@ﬁﬂ€ﬁdla ST ! TS 39 99 H T+ Wpdl I U 1Y Jfrd g9 a1d BT & S ST Bl aTHT fdamr
PRI

Options :

1. % 12



2. % 28
3. % 15
4.9 20

Question Number : 59 Question Id : 59445943684 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Number of students appeared in TGT examination from five schools over the years

School —
Year
2004 650 | 760 | 820 | 800 | 780
2005 T00 | 740 | 860 | 780 | 740
2006 300 | 820 | 940 | 750 | 730
2007 750 | 880 | 920 | 840 | 790
2008 350 | B840 | 900 | 860 | 770

A B & D E

What is the average number of students appeared from school B for all the years?
Options :
1. % 828
2. % 808
3. % 804
4. % 812

Question Number : 59 Question Id : 59445943684 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

aut & U Xl 9 Coie! URIE & 93+ aTd S Bt AT




ﬁ“ﬁ —F
a¥

2004 650 [ 760 [ 820 [ 800 | 780
2005 700 [ 740 | 860 | 780 [ 740
2006 800 | 820 [ 940 | 750 | 730
2007 750 | 880 | 920 | 840 [ 790
2008 850 | 840 [ 900 | 860 | 770

A B C D E

Tt auf & Ta B I QiR 81 aTel BT Bt 3id e fhd 87
Options :
1. # 828
2. ¥ 808
3. # 804
4. % 812

Question Number : 60 Question Id : 59445943685 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The following line graph shows the number of items sold by two shopkeepers in five different months.



500 \ / \

R .
I . .
350 \\// \/

300 . . . . |
January Febmary March Apnl May

—Mohan —NMadan

Find the difference between number of items sold by Madan in January and number of items sold by Mohan in May.
Options :

1. % 40

2. % 55

3. % 35

4. ¥ 60

Question Number : 60 Question Id : 59445943685 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T T 3R T S1eT-S1eRT HE ! B € gHMHER] gRT S TS a¥gaft &1 TReam &1 axifar 7



N Sl N
o Y .
350 \ / \/

300 . . ; . .
FA=AET TG AT e Az

A Ea ]

SHAR He - H Had gRT o1 15 avg il 1 T 3R Hs Ao § Hig gRT o1 15 aeg 3l 1 T & aiid 3feR 1 B |

Options :
1. % 40
2. % 55
3. % 35
4. ¥ 60

General Hindi
Group Number : 4
Group Id : 5944591010
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20

Is this Group for Examiner? : No



General Hindi

Section Id : 5944591735
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 16

Number of Questions to be attempted : 16

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 5944592019
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 59445943686 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FrEfIRed & @ SH-91 g5 THN &1 IS8R0l 82
Options :

1. ¥ (HPW]

2. % Hdd¥cd

3. % S[-HJd

4. % yguia

Question Number : 61 Question Id : 59445943686 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Frfad & 9 -9 g5 THY P I&TGR0I 52
Options :

1. ¥ [HHW]

2. % Addc]



3. % S
4. % yguiq

Question Number : 62 Question Id : 59445943687 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AR W 9 GRIS Teg DT T BT
Options :

1. % 3aldd

2. ¥ DU

3. % IR

4, % Ugdl-

Question Number : 62 Question Id : 59445943687 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fRrferRed # @ I=ISf Weg 1 = HITT-
Options :

1. % 3faldd

2. % DU

3. % IR

4, % UgdH

Question Number : 63 Question Id : 59445943688 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rl & 9 oH-a1 sifaaaras 9414 82
Options :

1. % gg

2. % dg

3.% 4




4.¥ TS

Question Number : 63 Question Id : 59445943688 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fr=fafRed & 9 SH-91 siHRegdrad a-m g2
Options :

1. * g

2. % dg

3.% 49

4. ¥ PS

Question Number : 64 Question Id : 59445943689 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FrfIRed & @ SH-91 Weg Afdadrdd U3 $1 3aT6R0l ol 62
Options :

1. % MH

2. % 3fH

3. ¥ delUl

4. % BTG

Question Number : 64 Question Id : 59445943689 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR o ¥ HH-3T 1o fadarad I3 HI 3Tl 781 62
Options :

1. % MH

2. % 3AMH

3. ¢ delUl

4. % BTG




Question Number : 65 Question Id : 59445943690 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FrAfRed & 9 SH-91 Tea "HSa BT yardrd Tl 8?2
Options :

1. % dH

2. % 99

3. % HY

4. ¥ SYAR

Question Number : 65 Question Id : 59445943690 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FrAfafed & 9 SH-91 2ea "Hoar o1 garaar T8l o2
Options :

1. % Hi

2. % g9

3. % HY

4. ¢ TR

Question Number : 66 Question Id : 59445943691 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
RreAfeirad 9 SRl AT SIg 1 T FHRTT-
Options :

1. ¢ Ulad

2. % W

3. % dR

4, % AR



Question Number : 66 Question Id : 59445943691 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fAEfaRad A T SRRTd/dHd Teg o1 I DifoTu-
Options :

1. ¥ Uidy

2. % W

3. % dR

4, ® AR

Question Number : 67 Question Id : 59445943692 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rread 3 e &1 e T S
Options :

1.« YguT

2. % IGHIHE

3. % gD

1. = P

Question Number : 67 Question Id : 59445943692 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fAefeiad 7 3 "ueiy &1 fady Yse HH-T1 82
Options :

1. « UJuT

2. % ISHIgE

3. % JIDHIA

4. % fagfr

Question Number : 68 Question Id : 59445943693 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fou TN IrR & fore 1 H T U e &1 I8 DifoTe-
R &g a1 g AT WS B oY

Options :

1. % IAMR

2. ¢ JAHADRI
3. % T

4. % g

Question Number : 68 Question Id : 59445943693 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau U ST & foru e & O U Weg 1 TG BIIL-
o 3 a1 g A1e WS B oY

Options :

1. % IR

2. ¢ AHGBRY
3. % T

4. % YT

Question Number : 69 Question Id : 59445943694 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e fear T IR T BT T ITERUT 82
sl T HR ! Al

Options :
1. % gul ygerd
2. % AN~ HdPTd




3. ¥ 301 Yd&dTd
4. % ZIoIHG YDA

Question Number : 69 Question Id : 59445943694 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

= fear T IR f5 g BT BT ITERUT 82
sl T HR ! Al

Options :

1. % guf ydera

2. % 3~ Yddld
3. ¢ 301 Yd&Td

4. % ZIoqHG YDA

Question Number : 70 Question Id : 59445943695 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
P & & iR g &1 907 FIRT-
Options :

1. #

2. % TRTH

3. % iRl

4.« gfAfd

Question Number : 70 Question Id : 59445943695 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
freferRad # & TifeT Weg o1 =g BifviL-
Options :

1. % S



2. % TRfH
3. % iR
4. ¢ giafa

Question Number : 71 Question Id : 59445943696 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fr=faRad & § $H-91 a9 degarad ared g2
Options :

1. % 310 Sfigd § I B |

2. ¢ DT 3 {4 ST IHT N

3. % S UNSH BT, 98 IBhd Rl

4. % TRY YIS T8 P 751 S|

Question Number : 71 Question Id : 59445943696 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frfeifad o @ SH-91 9oy egars a1 72
Options :

1. % 319 Sifa H I B

2. ¢ B 37d AR &1 b1 BHTI|

3. % Sl URYH BT, 98 Tl oIl

4. % TRY UTS I8 S Aa] BT

Question Number : 72 Question Id : 59445943697 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAEfeRad A T 9/ & bR BT IIT Hifole-
Ig BET HIgHH srgiifer < @ R

Options :




Question Number : 72 Question Id : 59445943697 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR & 9 9T & YbR b1 T HIfoIT-
g BT HIGHIHT Hgioifer 3 W8 &

Options :

1. ¥ HqarA
2. % HHATH
3. % Y[ddrg
4. % fafeary

Question Number : 73 Question Id : 59445943698 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrfoRaa & 9 ford GeTaR &1 37 "ART 7d ST T 82
Options :

1. % 3l o =l S

2. ¢ 31l § 7 SHIe|

3. % 3fiEl & gH IR

4. % 31 & SN SR BHI

Question Number : 73 Question Id : 59445943698 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fefoRed § @ fo gerar &1 o Rt 1d ST e /2



Options :

1. % gl & g BT

2. ¢ 3Gl H Id HleT|

3. % 3@ H QA I

4. % 3@l & M RIS

Question Number : 74 Question Id : 59445943699 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frfaRad o § fg Meiiaa &1 o qiad SRR B 8" 82
Options :

1. % YY1 < 1ol g7 |

2. % qHW S THUK|

3. % Sl SIS 9l e |

4. ¥ GAd Ie-Tdl Bld 5|

Question Number : 74 Question Id : 59445943699 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrfoRaa & @ forg Aoifaa &1 o "grerd SRR I 8" 82
Options :

1. % Y71 STl O

2. % IR b IH Y|

3. % Sl SIS Al HIeh|

4. ¢ Ad IA-Tdl Bid 5|

Question Number : 75 Question Id : 59445943700 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I feu 7w gt & e A @ -2 fomg &1 AT fhar mar g2



TR (go5) Bld Bl HoIgx H1H B! iRl § Hevd U |
Options :

1. % iR g ud quifarm™ forg

2. % IERUI forg U4 ufferm g

3. ¥ BIea forg Td quifar forg

4. % ISR g Ud faaRUl g

Question Number : 75 Question Id : 59445943700 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

42 feu 7w gt & e A @ -2 fomg &1 AT far mar g2

TR (98) BId 81 AoIgx b DI o § Hevd US|
Options :

1. % JGfax forg ud guifor™ fog
2. % IGRUI fog T guifarm fag
3. ¥ DSBS g U4 Yuifar fog

4, % IGRU g U4 3adur g

Sub-Section Number : 2
Sub-Section Id : 5944592020
Question Shuffling Allowed : Yes

Question Id : 59445943701 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (76 to 80)

=TT I FT AT ga® I HR U=AT B IR Glord-

T EHR I™l &1 -1 ¥ 718 & | FoReRT 3R 31! TR Hid-9id | & °Ig §R T 8 | FRT SiiaH (S &1 8 | W& IR 8l
b & | HTIHd HIAd B 70 el | STH GRA SHH & TRIGRT AF 8 | 39 96 d § 3R B! Ufdadl &1 3{HTd g | 31 o Th ¢ UHR HI
HAP Ayl THitd-Tifed TR H vaferd 811 ara ]| afe 98 = yaiferd gei df w=il & ufed! & - qad] g9 W1 qAfy | I8 a1

e Aolgl & gad A Mt | 39 HoigRl & &3 U g 7 Pidd] (Hebeitil ot 30 Sita H 3{1a & 1Y Wl Bl HSl B, HUS B YN P,
SId & I BT, AP el o NI T NEHId g HT | 371 RR SR A7 Ui, 4@ ¥ faue SR fhare I T §U d 9ol Hid ofd oiid J ddbal dled




9 AH S PHIe BT Xeg 9 T WRI J T Gio arga W 9 gt fe=maf & T sgyd T 3 fos 4fasy & weraal & forg ag
YUG 3R AR $I B < Holl &0 4 o1 gt gig gt avlt Tu oid Uar g1, a2t U Siiferdl &1 Iosd 81T | TR A 99 & 9d HolgR &
S X Tl | TGTERUT, 9T 3R Hiadr 31fE & B a1 HolgR B! & I H Tieerd gil|

Sub questions

Question Number : 76 Question Id : 59445943702 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST TR & TR HolgR Soia gy Ui Hiadl HR FHdl g
Options :

1. ¢ 3NVRI A e ara Tiid & Are I
2. % sl ¥ FeaH ara 7d & AreEd 9|
3. % AEgdl & A1 |
4. % SR & AT Y|

Question Number : 77 Question Id : 59445943703 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FEAfIREd & & SH-91 Treg “3igyd &1 argard! g1 87
Options :

1. % AHJUH

2. % 3ol

3. % 3dd

4. ¢ {qMHY

Question Number : 78 Question Id : 59445943704 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Iuad T & SR, A T Afe Taferd et goit dl 7s
Options :

1. % 0 gl 3THST R Al

2. % YIS DT TATH SR I8 ST |




3. % J13ff BT A TP I8 ST
4. « TR DT ATH ST I8 STRAT|

Question Number : 79 Question Id : 59445943705 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R o @ HerarT «3/ad & Ol qlsMr &1 ar 31 §2
Options :

1. % 3 SHR fckT G|

2. % 3fTEh HHGIR Sl |

3. ¢ Had DU B

4. % TR DI YgTIdT & foIT T TaR &1

Question Number : 80 Question Id : 59445943706 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SUad TR & SR, T4 e &1 U fawg f=1 5 & & geme
Options :

1. % 4o 9 forue SiR dias ¥ W Holg |

2. ¢ TOIGRI & Sita H faRarT 3 |

3. % AOIgR- HETd &1 Ueb |

4. % TOIGRI BT YHYU SiaH |

Question Id : 59445943701 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (76 to 80)

frfafed TaT &1 eryde srerH wR TRl & IR ST

frpr TEHR Al @ -2 U T8 € 1 foeRY 3R 3T IR Wa-1id 7 & 18 BR T § | URT SfiaH F9s o1 8 1 W /A 8
b & | SHTIHd HIAdT B 70 o | STH GRA SHH &1 TRIGRT AF & | 39 96 d § 3 &1 Ufdadl T 3HTd g | 31 o Th ¢ UHR HT
HAH YUl THitd-TIfed TR H vaferd 811 ara ]| afe 98 7 yaiferd gei ol A=il & ufed! & - qad: g9 TR1 JAfy | I8 =41
Ao AIGR] & g&d ¥ BT | 37 HoIgR] & $3 U TE 715 Hiddl Ml Sl U+ Sita # 3175 & 1Y Wd B! Al B, HUS b YN &I,




A o Tl Bl Abha! o T BT YGHTd g ®il | -1 RR 3R A7 Ui, 4o 9 fore iR fhas ¥ Wi gU d 9oldM Hid ofd ST | ddbal pich
9 TH Sl Bl BT Weg 7D R TR Y TG SR arga™ R 9 o8l fazmsil & BT srgyd MM T fos Hiass & Farawdl & forg agt
YUe 3R AAR BT BT | el Ut o ot aft g e adt 7 wfa Uar g, quft e siferat &1 3vgd 81 IReg 3 99 & 9d HAolgR &
Y I TeT | YLGTERUT, 3T SR HidT 311 & T 31 Aoigx B4l & IeH | Upfead giil|

Sub questions

Question Number : 76 Question Id : 59445943702 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST TR & TR HolgR SofdT Xghx T HiadI HR THAT 5 |
Options :

1. ¥ ORI ¥ e arel S & Areqd
2. % RISl § e ard Md & qregy 4|
3. % WSl & qIEH 9|
4. % PR & AT Y|

Question Number : 77 Question Id : 59445943703 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frAfaRad & O $1F-91 Teg “gYd” HT Targard! el g2
Options :

1. % offuH

2. % Sfdl

3. % 3{dd

4, HqIHY

Question Number : 78 Question Id : 59445943704 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

UG TN & AR, JiG T Ao Ffed T gaiAgsd

Options :
1. % ToU g1 3THGT R |




2. % A3 BT TATH SHDHR I8 ST |
3. % J13{l BT A TR I8 STRATT|
4.+ FRHI BT I[ATH SR g S|

Question Number : 79 Question Id : 59445943705 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f=fRad & T GeTerT “o/ad & UIg GIeMT &1 &1 31 g2
Options :

1. % 3l SHR fckT G|

2. % YYD HHSIR ki |

3. ¥ Had HegAE BT

4. % QIR P YT & foTT g IR 8|

Question Number : 80 Question Id : 59445943706 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U T & SR, 7 Hifed &1 U favg (w1 o 9 o1 g
Options :

1. % 4o 9 forue SiR dias ¥ W Holg |

2. ¢ AR o Sita H foerT s |

3. % oG- e I Teb I

4. % TSI T YHYU] Sia |

General English
Group Number : 5
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Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 59445943707 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, four sentences are given out of which three sentences are grammatically incorrect while one is correct. Find out which
sentence is grammatically correct and select the appropriate option.

Options :
1. * The world enter what could be a global lockdown, a slowdown in economic production.

2. % Computers makes it possible to erase time and distance through telecommunications, thereby giving us the freedom to choose the times and
places at which we work.

3. % The rich will still fare better than the poor and it will stock up for the quarantine.

4. ® They will have access to medical services and personal doctors or the poor won’t have.

Question Number : 81 Question Id : 59445943707 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

In the following question, four sentences are given out of which three sentences are grammatically incorrect while one is correct. Find out which
sentence is grammatically correct and select the appropriate option.

Options :
1. ® The world enter what could be a global lockdown, a slowdown in economic production.

2. ® Computers makes it possible to erase time and distance through telecommunications, thereby giving us the freedom to choose the times and
places at which we work.

3. ¥ The rich will still fare better than the poor and it will stock up for the quarantine.

4. ® They will have access to medical services and personal doctors or the poor won’t have.

Question Number : 82 Question Id : 59445943708 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Identify the segment in the sentence which contains the grammatical error from the given options.

I can hear the bell ringing but nobody seems to be coming to opening the door.
Options :

1. # I can hear

2. % the bell ringing

3. % but nobody seems to be coming

4. ¥ to opening the door

Question Number : 82 Question Id : 59445943708 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Identify the segment in the sentence which contains the grammatical error from the given options.

I can hear the bell ringing but nobody seems to be coming to opening the door.
Options :

1. # I can hear

2. # the bell ringing

3. # but nobody seems to be coming

4. ¥ to opening the door



Question Number : 83 Question Id : 59445943709 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select No
substitution required.

A five-years-old law banning professionally assisted suicide has been rejected as unconstitutional by Germany's top court.
Options :

1. # five-year-old laws
2. ¥ five-year-old law
3. # five-years-old laws

4. ¥ No substitution required

Question Number : 83 Question Id : 59445943709 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select No
substitution required.

A five-years-old law banning professionally assisted suicide has been rejected as unconstitutional by Germany's top court.

Options :

1. # five-year-old laws
2. ¥ five-year-old law
3. ® five-years-old laws

4. # No substitution required

Question Number : 84 Question Id : 59445943710 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select No
substitution required.

The endemic sleepiness found in adolescents is multi factorial with both intrinsic along with extrinsic factors.



Options :

1. ¥ both intrinsic and extrinsic factors

2. # both intrinsic as well as extrinsic factors
3. # either intrinsic or extrinsic factors

4. # No substitution required

Question Number : 84 Question Id : 59445943710 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select No
substitution required.

The endemic sleepiness found in adolescents is multi factorial with both intrinsic along with extrinsic factors.
Options :

1. % both intrinsic and extrinsic factors
2. % both intrinsic as well as extrinsic factors
3. % either intrinsic or extrinsic factors

4. % No substitution required

Question Number : 85 Question Id : 59445943711 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

The pup is pure white for her black-skin ears, which have yet to grow their covering.
Options :

1. % expect

2. ® accept

3. # inspect

4. ¥ except

Question Number : 85 Question Id : 59445943711 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

The pup is pure white for her black-skin ears, which have yet to grow their covering.
Options :

1. # expect

2. # accept

3. # inspect

4. ¥ except

Question Number : 86 Question Id : 59445943712 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

According to the 2001 Census, India has 30 languages that are by more than a million people each.
Options :

1. ¥ spoken

2. # expressed

3. * mentioned

4. ¥ suppressed

Question Number : 86 Question Id : 59445943712 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

According to the 2001 Census, India has 30 languages that are by more than a million people each.
Options :

1. ¥ spoken

2. # expressed

3. ¥ mentioned

4. % suppressed



Question Number : 87 Question Id : 59445943713 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the following sentences in their correct order to form a meaningful paragraph.

P. There were hardly any vacant rooms in hotels that line the coast of Mexico's most famous resort, Acapulco.
Q. Just two days ago, the beaches were thronged with picnickers, sunbathers, surfers and holidaymakers.
R. However, the city had a most unwelcome intruder, a monster in the form of hurricane Pauline, the previous day.

Options :
1. * PQR
2. % RQP
3. % QPR
4. % RPQ

Question Number : 87 Question Id : 59445943713 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the following sentences in their correct order to form a meaningful paragraph.

P. There were hardly any vacant rooms in hotels that line the coast of Mexico's most famous resort, Acapulco.
Q. Just two days ago, the beaches were thronged with picnickers, sunbathers, surfers and holidaymakers.
R. However, the city had a most unwelcome intruder, a monster in the form of hurricane Pauline, the previous day.

Options :
1. * PQR
2. % RQP
3. ¥ QPR
4. % RPQ

Question Number : 88 Question Id : 59445943714 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question given below, rearrange the sentences in the correct order, and choose the correct option. The first and sixth (last) statements are
given in the right sequence and are fixed.



1. We are living in an age in which technology has suddenly 'annihilated distance'.

P: Are we going to let this consciousness of our variety make us fear and hate each other?

Q: Physically we are now all neighbours, but psychologically we are still strangers to each other.

R: How are we going to react?

S: We have never been as conscious of our variety as we are now that we have come to such close quarters.
6. In that event, we should be dooming ourselves to wipe each other out.

Options :

1. % PQSR
2. % PSQR
3. ¥ QSRP
4. % RQSP

Question Number : 88 Question Id : 59445943714 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question given below, rearrange the sentences in the correct order, and choose the correct option. The first and sixth (last) statements are
given in the right sequence and are fixed.

1. We are living in an age in which technology has suddenly 'annihilated distance'.

P: Are we going to let this consciousness of our variety make us fear and hate each other?

Q: Physically we are now all neighbours, but psychologically we are still strangers to each other.

R: How are we going to react?

S: We have never been as conscious of our variety as we are now that we have come to such close quarters.
6. In that event, we should be dooming ourselves to wipe each other out.

Options :

1. # PQSR
2. % PSQR
3. ¥ QSRP
4. # RQSP

Question Number : 89 Question Id : 59445943715 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate synonym of the given word.



CONTAINMENT
Options :

1. # Perish

2. # Toil

3. % Confinement
4. ¥ Despair

Question Number : 89 Question Id
Orientation : Vertical

: 59445943715 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate synonym of the given word.

CONTAINMENT
Options :

1. # Perish

2. % Toil

3. % Confinement
4. ¥ Despair

Question Number : 90 Question Id
Orientation : Vertical

: 59445943716 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate antonym of the given word.

QUARREL
Options :

1. # Brawl

2. % Tussle

3. ¥ Reconciliation
4. % Scuffle

Question Number : 90 Question Id

: 59445943716 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate antonym of the given word.

QUARREL
Options :

1. # Brawl

2. ® Tussle

3. % Reconciliation
4. % Scuffle

Question Number : 91 Question Id
Orientation : Vertical

: 59445943717 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25

Select the correctly spelt word.
Options :

1. # Riceprocity

2. % Recipracitie

3. ¥ Reciprocity

4. % Riceprocitie

Question Number : 91 Question Id
Orientation : Vertical

: 59445943717 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25

Select the correctly spelt word.
Options :

1. # Riceprocity

2. # Recipracitie

3. % Reciprocity

4. ¥ Riceprocitie

Question Number : 92 Question Id

: 59445943718 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the wrongly spelt word.

Options :

1. ¥ Parformence

2. # Permissible

3. # Perseverance

4. % Personnel

Question Number : 92 Question Id : 59445943718 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the wrongly spelt word.

Options :

1. ¥ Parformence

2. # Permissible

3. % Perseverance

4. % Personnel

Question Number : 93 Question Id : 59445943719 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom/ phrase.

Take it up a notch

Options :

1. # To do something pointless

2. ¥ Apply more effort to achieve a goal
3. % To accidentally reveal a secret

4. # This isn't over yet

Question Number : 93 Question Id : 59445943719 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom/ phrase.

Take it up a notch

Options :

1. # To do something pointless

2. % Apply more effort to achieve a goal
3. % To accidentally reveal a secret

4. % This isn't over yet

Question Number : 94 Question Id : 59445943720 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom/ phrase.

Not my cup of tea
Options :

1. % A refreshing drink
2. % A routine work

3. ¥ Not what I like

4. # Not liked by me

Question Number : 94 Question Id : 59445943720 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom/ phrase.

Not my cup of tea
Options :

1. # A refreshing drink
2. # A routine work

3. % Not what I like



4. # Not liked by me

Question Number : 95 Question Id : 59445943721 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the group of words given.

Primarily concerned with making money at the expense of ethics
Options :

1. ¥ Mercenary

2. % Altruist

3. * Philanthropist

4. % Angel

Question Number : 95 Question Id : 59445943721 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the group of words given.

Primarily concerned with making money at the expense of ethics

Options :

1. ¥ Mercenary

2. # Altruist

3. # Philanthropist

4. % Angel

Sub-Section Number : 2
Sub-Section Id : 5944592022
Question Shuffling Allowed : Yes

Question Id : 59445943722 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (96 to 100)
Read the following passage and answer the questions below.



On 29 March 1857, a young soldier, Mangal Pandey, was hanged to death for attacking his officers in Barrackpore. Some days later, some sepoys
of the regiment at Meerut refused to do the army drill using the new cartridges, which were suspected of being coated with the fat of cows and
pigs. Eighty-five sepoys were dismissed from service and sentenced to ten years in jail for disobeying their officers.

This happened on 9 May 1857. The response of the other Indian soldiers in Meerut was quite extraordinary. On 10 May, the soldiers marched to
the jail in Meerut and released the imprisoned sepoys. They attacked and killed British officers. They captured guns and ammunition and set fire
to the buildings and properties of the British and declared war on the firangis. The soldiers were determined to bring an end to their rule in the
country. But who would rule the land instead? The soldiers had an answer to this question — the Mughal emperor Bahadur Shah Zafar.

The sepoys of Meerut rode all night of 10 May to reach Delhi in the early hours next morning. As news of their arrival spread, the regiments
stationed in Delhi also rose up in rebellion. Again british officers were killed, arms and ammunition seized, buildings set on fire. Triumphant
soldiers gathered around the walls of the Red Fort where the Badshah lived, demanding to meet him. The emperor was not quite willing to
challenge the mighty British power but the soldiers persisted. They forced their way into the palace and proclaimed Bahadur Shah Zafar as their
leader.

The ageing emperor had to accept this demand. He wrote letters to all the chiefs and rulers of the country to come forward and organise a
confederacy of Indian states to fight the British. This single step taken by Bahadur Shah had great implications.

Sub questions

Question Number : 96 Question Id : 59445943723 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Why were eighty five sepoys dismissed from the service and sentenced to ten years jail?
Options :

1. % for stealing arms from the factory

2. ¥ for disobeying their officers

3. # for quarrelling with their fellow sepoys

4. # for supporting the rebellion

Question Number : 97 Question Id : 59445943724 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Indian soldiers marched to the jail and released imprisoned sepoys on —
Options :

1. # 29 march 1857



2. % 8 May 1857
3. % 9 May 1857
4.+ 10 May 1857

Question Number : 98 Question Id : 59445943725 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Why did some sepoys of the regiment at Meerut refuse to use the new cartridges?
Options :

1. ¥ because they were suspected of being coated with the fat of cows and pigs

2. % because they were treated harshly and unequally by the army officers at that time
3. % because they were weak enough to use that new type of cartridges

4. ® because they wanted equal opportunities as the British soldiers were given

Question Number : 99 Question Id : 59445943726 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following best expresses the opposite meaning to the given word “Triumphant”?
Options :

1. # victorious

2. # conquering

3. % successful

4. ¥ defeated

Question Number : 100 Question Id : 59445943727 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is incorrect according to the given passage?

Options :

1. # Again British officers were killed, arms and ammunition seized, buildings set on fire.

2. # Indian soldiers forced their way into the palace and proclaimed Bahadur Shah Zafar as their leader.
3. ¥ The British soldiers were determined to bring an end to their rule in the country.

4. % Asnews of their arrival spread, the regiments stationed in Delhi also rose up in rebellion.



Question Id : 59445943722 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (96 to 100)
Read the following passage and answer the questions below.

On 29 March 1857, a young soldier, Mangal Pandey, was hanged to death for attacking his officers in Barrackpore. Some days later, some sepoys
of the regiment at Meerut refused to do the army drill using the new cartridges, which were suspected of being coated with the fat of cows and
pigs. Eighty-five sepoys were dismissed from service and sentenced to ten years in jail for disobeying their officers.

This happened on 9 May 1857. The response of the other Indian soldiers in Meerut was quite extraordinary. On 10 May, the soldiers marched to
the jail in Meerut and released the imprisoned sepoys. They attacked and killed British officers. They captured guns and ammunition and set fire
to the buildings and properties of the British and declared war on the firangis. The soldiers were determined to bring an end to their rule in the
country. But who would rule the land instead? The soldiers had an answer to this question — the Mughal emperor Bahadur Shah Zafar.

The sepoys of Meerut rode all night of 10 May to reach Delhi in the early hours next morning. As news of their arrival spread, the regiments
stationed in Delhi also rose up in rebellion. Again british officers were killed, arms and ammunition seized, buildings set on fire. Triumphant
soldiers gathered around the walls of the Red Fort where the Badshah lived, demanding to meet him. The emperor was not quite willing to
challenge the mighty British power but the soldiers persisted. They forced their way into the palace and proclaimed Bahadur Shah Zafar as their
leader.

The ageing emperor had to accept this demand. He wrote letters to all the chiefs and rulers of the country to come forward and organise a
confederacy of Indian states to fight the British. This single step taken by Bahadur Shah had great implications.

Sub questions

Question Number : 96 Question Id : 59445943723 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Why were eighty five sepoys dismissed from the service and sentenced to ten years jail?
Options :

1. % for stealing arms from the factory

2. ¥ for disobeying their officers

3. # for quarrelling with their fellow sepoys

4. # for supporting the rebellion

Question Number : 97 Question Id : 59445943724 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Indian soldiers marched to the jail and released imprisoned sepoys on —
Options :

1. % 29 march 1857

2. % 8§ May 1857

3. % 9 May 1857

4.+ 10 May 1857

Question Number : 98 Question Id : 59445943725 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Why did some sepoys of the regiment at Meerut refuse to use the new cartridges?
Options :

1. ¥ because they were suspected of being coated with the fat of cows and pigs

2. % because they were treated harshly and unequally by the army officers at that time
3. % because they were weak enough to use that new type of cartridges

4. ® because they wanted equal opportunities as the British soldiers were given

Question Number : 99 Question Id : 59445943726 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following best expresses the opposite meaning to the given word “Triumphant”?
Options :

1. # victorious

2. # conquering

3. % successful

4. ¥ defeated

Question Number : 100 Question Id : 59445943727 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statements is incorrect according to the given passage?



Options :

1. #® Again British officers were killed, arms and ammunition seized, buildings set on fire.

2. # Indian soldiers forced their way into the palace and proclaimed Bahadur Shah Zafar as their leader.
3. ¥ The British soldiers were determined to bring an end to their rule in the country.

4. ® As news of their arrival spread, the regiments stationed in Delhi also rose up in rebellion.
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Question Number : 101 Question Id : 59445943728 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Deficiency diseases occur in human body because of:
Options :

1. * Dehydration

2. % absence of nutrients

3. # absence of physical activity

4. % presence of disease germs

Question Number : 101 Question Id : 59445943728 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
gIFaTeT=a M A4 TRR & 81 & SR T 62
Options :

1. % Foiefiaxu

2. ¢ UINSD Tl ol HHl

3. % YRR Tfafafd &1 ervra

4. % B3l ot JufRfa

Question Number : 102 Question Id : 59445943729 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the reason behind the importance of Vitamin A?
Options :

1. ¥ prevents night blindness

2. # Prevents scurvy

3. ® prevents anaemia

4. # prevents constipation

Question Number : 102 Question Id : 59445943729 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

frafefad o @ e SR A A & Agayufd & gxifdr g2
Options :

1. ¢ cieh Bl Al &

2. % THdl DI ADHd §

3. % TR $I Adbdl §

4. ® Hoo Al &

Question Number : 103 Question Id : 59445943730 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The underlying reason behind the low haemoglobin formation in the body is-
Options :

1. # scurvy

2. ¥ anemia

3. % goiter

4. # night blindness

Question Number : 103 Question Id : 59445943730 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TRR § &4 i &1 & 0D sidfied HRu&-
Options :

1. % Whdl

2. ¢ Il

3. % Yd

4. % ardt

Question Number : 104 Question Id : 59445943731 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of the following could be the outcome of taking an excessive amount of carbohydrates?
Options :

1. # Underweight

2. % Anemia

3. ¥ Obesity

4. % Marasmus

Question Number : 104 Question Id : 59445943731 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IS T | HragrRge o &1 aRomd 9 & I S 1 8 Iohdl 82
Options :

1. % HH qo dTe 3c-HR

2. % IRl

3. ¢ Al

4. % AR

Question Number : 105 Question Id : 59445943732 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following is an example of a food that could prevent vitamin A deficiency in humans?
Options :

1. ¥ Spinach

2. % Lemon

3. # Yeast

4. % Potato

Question Number : 105 Question Id : 59445943732 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FRfIRed 5 I D19 T TY HIoH &1 3360 § Sl A § et A & &4 &I s Tl 82

Options :



1. ¢ OTddh
2. % Hig

3. % WHR
4. % 31

Question Number : 106 Question Id : 59445943733 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The in the presence of can produce Vitamin D.
Options :

1. ¥ Body, Sunlight

2. % Body, Vitamin A

3. # Eyes, Sunlight

4. ® Nose, Vitamin A

Question Number : 106 Question Id : 59445943733 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P Juffad A f3eTf® D F1 IUTET HR THaT g
Options :
1. ¥ YU, TRR
2. % e A, IR

Question Number : 107 Question Id : 59445943734 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If a person wants to be healthy, he should have a diet rich in vitamin A.
Options :

1. ¥ Eyes



2. % Nose
3. # Ears
4. % Head

Question Number : 107 Question Id : 59445943734 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I P AfMd W T1Edl 5, a9 I U 3MER H HRYR AT H faerf®e A a1 =l
Options :

1. ¢ 39

2. ® Hqldh

3. % DM

4. % RR

Question Number : 108 Question Id : 59445943735 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of these must be taken to keep our gums and teeth healthy?
Options :

1. ¥ Calcium

2. % Tron

3. # Jodine

4. ¥ Zinc

Question Number : 108 Question Id : 59445943735 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SR Mg 3R aid &I W TG & foIE 98 I F1 o1 A1 gu?
Options :

1. ¢ Hic’rgH

2. % 3RRA




3. % 3RS
4. % Ni&

Question Number : 109 Question Id : 59445943736 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is a content in Fortified salt?
1. Iron
2. Iodine

Options :

1. % Only 1

2. % Only 2

3. % Both 1 and 2
4. # Neither 1 nor 2

Question Number : 109 Question Id : 59445943736 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafied & @ oH-91 GRS TS & 99< I 82
1. 3R

2. 3T

Options :

1. % $ad |

2. % Had 2

3. ¢ 1 3R 2 Gl
4. % A 1ATR 2

Question Number : 110 Question Id : 59445943737 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If a person is suffering from iodine deficiency, he/she must eat/drink -



Options :

1. ¥ sea food

2. # root and tubers
3. % Dark Chocolate
4. # fibre rich food

Question Number : 110 Question Id : 59445943737 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe BIs Afad MASH &) Al § Uifsd g, O ST raxg 8t CIEISIEIRCI
Options :

1. ¢ T HIeH

2. % TS 3R be

3. % ST dldbeic

4. % TTZR o HIoH

Question Number : 111 Question Id : 59445943738 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Presence of which of these elements is definitely required for the movement of muscles?
Options :

1. # iodine

2. % iron

3. % calcium

4. % Omega 3

Question Number : 111 Question Id : 59445943738 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AU & Hared & fore Rfd U I gt ST &1 Sawgdhdr gidl 82

Options :



1. % 3MrSH
2. % 3TRA

3. « PHicRrgH
4. % 3HTT3

Question Number : 112 Question Id : 59445943739 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following Vitamins are soluble in fat?
Options :

1. # Vitamin A

2. % Vitamin B

3. ® Vitamin D

4. % Vitamin A and Vitamin D

Question Number : 112 Question Id : 59445943739 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafofed # 3 o4 a1 faerfiq our § gaqsia g2
Options :

1. % fqerie A

2. % fqerff B

3. % fqarfiA D

4. ¢ {421t A SR fqerff= D

Question Number : 113 Question Id : 59445943740 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is an outer fibrous layer of the human-eye?
Options :

1. # Iris



2. # Retina
3. % Cornea
4. % Choroid

Question Number : 113 Question Id : 59445943740 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o & 9 SIF-91 Ta eifa o aTed YRR Rd 2
Options :

1. % 31 I gefell (3MER)

2. % U Rfe)

3. ¢ FFUCH (HIHA)

4. % TGP (PRIZI)

Question Number : 114 Question Id : 59445943741 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The one method which preserves the maximum nutrients, out of the four methods of cooking food with moist heat, is called
Options :

1. ¥ steaming

2. # Cooking from woods

3. ® stewing

4. % pressure cooking

Question Number : 114 Question Id : 59445943741 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3TS ST H HISH b 1 IR AR & Q Uep A S 3if¥rerdd Uives dedl b1 TRférd e g, Hedal gl
Options :

1. ¢ YO H UBHI

2. % AHISTl BT YINT B JHT ST




3. % i} i W U

4. % URR Pl

Question Number : 115 Question Id : 59445943742 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following can aptly describe stewing?
Options :

1. # cooking on a specific BTU

2. ¥ high temperature and little water

3. # Jow temperature and little water

4. ® low temperature and lots of water

Question Number : 115 Question Id : 59445943742 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
mﬁﬁﬁq—W@T(stewing)WWWﬁmmé?
Options :

1. % T fAfRY Sy R @ 1 ST

2. ¢ 3 AYHH 3R UIST Ut

3. % EHH dIHM 3R UIST !

4. % HY YA 3R Igd IRT UM

Question Number : 116 Question Id : 59445943743 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following method is the way of cooking food by dry heat?
Options :

1. # Baking

2. ® Roasting

3. ¥ Both baking and roasting



4. ¥ Steaming

Question Number : 116 Question Id : 59445943743 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafifad o @ o9 0 Rl I au @ 1ieH g 31 fafy g2
Options :

1. % el

2. % HAAT

3. ¢ TG 3R YA Sl

4. % YU H GHMI

Question Number : 117 Question Id : 59445943744 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The method in which high frequency waves are passed through food from where heat is generated by rapid vibrations of water molecules is
called:

Options :

1. ¥ Microwave Cooking
2. % Baking

3. #® Solar Cooking

4. ® Grilling

Question Number : 117 Question Id : 59445943744 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g fafdy s I=a 3mgfy ol &Y HivH & Hierd | Uil e SirdT @ Siet & Uit & 3ru[aii & dig o & 7T S gl B, 98 Peardl 7
Options :

1. ¢ HISshIdd UTehidfe

2. % Yl

3. % FleR UTepfafd



4. % YT

Question Number : 118 Question Id : 59445943745 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following should not be done while boiling?

Options :

1. ¥ Wash the food thoroughly before boiling

2. ® First boil the water and then put the food

3. ¥ The water should not cover the food completely, only one fourth water is to be poured always
4. ® Boil food in a pan which has a well fitted lid

Question Number : 118 Question Id : 59445943745 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YIS 1 IaTerd THY FafciRad § 9 o1 gt 1 =g

Options :

1. % I I gd HIg Uerd Pl 33t avg A 1% R a1 1T

2. % Ugd O Bl IaTd SR R 39 1y uard i

3. ¢ O 9 O3 ORE ¥ YIS UGT &l ST g1 d1g, GHRT dhad U dIdTs Ut ST
4. % UISH B U TY §a4 H UHIU RIS eae B! d¥e I 8¢ gial gl

Question Number : 119 Question Id : 59445943746 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given options the Method of Food Enrichment is
1. Combination
2. Fermentation
3. Germination

Options :
1. # 1 and2 only
2. % 2 and 3 only



3. % 1 and 3 only
4.4 1,2 and 3

Question Number : 119 Question Id : 59445943746 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
feq 7T fasedl # @ ad= &1 fafd o
1. forgon
2. GHR

3. 3P

Options :

1. % Had 1 3R 2
2. % Had 2 3R 3
3. % $Had 1 3R 3
4.9 1,2 3R 3

Question Number : 120 Question Id : 59445943747 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The nutritive value and of food items is increased by Germination.
Options :

1. ¥ Digestibility

2. % Vitamin A

3. # Vitamin B

4. % Both vitamin A and vitamin B

Question Number : 120 Question Id : 59445943747 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3pRUT Y W yardf & Gveh g 3R A3 gt Bl

Options :

1. ¢ UTaRIad
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Sub-Section Number : 1
Sub-Section Id : 5944592024
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 59445943748 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Choose the characteristics of the non-perishable food items?
Options :

1. # Do not spoil at all

2. ¥ Take long time to spoil

3. # Takes shortest time to get spoiled

4. # (Can be saved only when stored in darkness

Question Number : 121 Question Id : 59445943748 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT W uerdf @ faRrsarsit &1 T B2
Options :

|. % WT B 8Id 8

2. ¥ WE R A daI gag dAd @

3. % WE B H I HH IHI A1 8

4. % 3R T W IM R 8 I S bl §

Question Number : 122 Question Id : 59445943749 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of these are the methods of preserving food at home?

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. Exposing food to low temperature

2. Exposing food to high temperature

3. By adding salt

4. By keeping food in water



Question Number : 122 Question Id : 59445943749 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TR TR YIS BT WRIEd B o1 3790 9 S 9 fafd g2

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. HISH &I HH dTAM H Salad Bl

2. YIS &1 3 dTUHM H SalRId BT

3. THD JTADR IG]

4. 9T YaTY B ofdd | 3@

Question Number : 123 Question Id : 59445943750 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following sources Natural Dyes are not obtained from?
Options :

1. # Vegetables

2. % Animals

3. % Minerals

4. ¥ Chemicals

Question Number : 123 Question Id : 59445943750 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ﬁmﬁﬁgm g Hl?mcb ISP (natural dyes) Wﬁfﬁﬁ%?
Options :

1. * gfesrai

2. % U]

3. % G




4.« {9

Question Number : 124 Question Id : 59445943751 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The first drop of Polio Vaccine is given at an age of
Options :

1. % 10 weeks

2. ¥ 6 weeks

3. % 1 year

4. # 6 months

Question Number : 124 Question Id : 59445943751 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tifer) &1 el Usel SR I Su ¥ fea S gl
Options :

1. % 10 9«ilg

2. % 6 Uldlg

3.% 199

4. % g

Question Number : 125 Question Id : 59445943752 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following synthetic dyes has been banned being very harmful to human health?
Options :

1. # Direct

2. % Basic

3. % Acid

4. ¥ Azo



Question Number : 125 Question Id : 59445943752 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad & 9 ford ST I8 (synthetic dyes) BT AT WA & AU 9gd SIHBRS 811 & HRUT Widaidd foar T g2
Options :

1. ® ¥qa: IPH

2. % JTYRYJ Iolh

3. % 3RAN ISTeh

4. ¥ Toll I5Th

Question Number : 126 Question Id : 59445943753 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the Fabric is not properly rinsed, then it becomes
Options :

1. % Blue

2. ¥ Yellow

3. # Bright

4. # Grey

Question Number : 126 Question Id : 59445943753 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fe HUS DI Sib A 1 U1 WIell 8, ol T§ CEfeIGI]
Options :

1. % e

2.« Uldl

3. # gHHaR

4. % YW



Question Number : 127 Question Id : 59445943754 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Soakage pits provide a hygienic method for the disposal of which of the following?
Options :

1. % Garbage

2. ¥ waste water

3. * human excreta

4. % Biodegradable waste

Question Number : 127 Question Id : 59445943754 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

i fie FafoRad # @ e e & foe ue W fafd vem #vd €2
Options :

1. ¥ HS[PIhC

2. ¢ UMY S

3. % HHJ HA

4. % Safg-g safy

Question Number : 128 Question Id : 59445943755 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is a consequence of putting more than one electrical appliance in one socket?
Options :

1. # It decreases the life of socket

2. # There will be less electricity in each one of them

3. % It entangles the wires

4. ¥ [t creates the chance of accidental fires

Question Number : 128 Question Id : 59445943755 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

frafaRad # 9 S1F-91 Ue Hiove § U ¥ 31fi% faggd SUHRUI T &1 URUMH g2
Options :

1. % gg lohe 1 Y DI HH Il §

2. % UAD DA faSTell b1 Udrg g

3. % Ug dRI B! A §

4. ¥ TG BRI N T BT Tl a1 §

Question Number : 129 Question Id : 59445943756 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Why cold water is applied to treat sprain?
Options :

1. #® Jower the body temperature

2. ¥ lessen pain and swelling

3. # to increase the blood flow in injured part

4. % to increase WBC count

Question Number : 129 Question Id : 59445943756 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A BT AT Hd THY, 381 U1 T T Sl 82
Options :

1. % YRR BT YA HH B & o8

2. ¢ T 3R ol HH o’ & g

3. % g fe H Yad & Ude &l d¢H & fau

4, % Sl Bl dgM & fofw

Question Number : 130 Question Id : 59445943757 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of the following are requirements for an Iron for pregnant woman?
Options :

1. # 10mg-40mg

2. ¥ 30mg-60mg

3. # 40mg-120mg

4. % 60mg-200mg

Question Number : 130 Question Id : 59445943757 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ta Afge & T SR 1 fbat sTaxaehd &
Options :

1. # 10mg-40mg

2. ¥ 30mg-60mg

3. ¥ 40mg-120mg

4. % 60mg-200mg

Question Number : 131 Question Id : 59445943758 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year was the Prevention of Food Adulteration Act passed?
Options :

1. % 1954

2. % 1956

3. % 1958

4. % 1960

Question Number : 131 Question Id : 59445943758 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Qe Uiy Faror siffaw forg avf uiia fosar mam um

Options :



1. ¥ 1954
2. #® 1956
3. % 1958
4. % 1960

Question Number : 132 Question Id : 59445943759 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

From the following options, choose the correct emulsifier used in mayonnaise.
Options :

1. % Myoglobin

2. % Cellulose

3. % Soya protein

4. ¥ Lecithin

Question Number : 132 Question Id : 59445943759 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAafaRad fawedl O 9, B9 4 wged el URid RS ga?
Options :

1. % AN

2. % gl

3. % GETUIEA

4.« AR

Question Number : 133 Question Id : 59445943760 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The growing foetus is affected by which of the following factors-
1. Mother’s diet

2. Mother’s emotional state

3. Age of mother



Options :

1. % 1and 2 only
2. % 2 and 3 only
3. % 1 and 3 only
4.4 1,2and 3

Question Number : 133 Question Id : 59445943760 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TG g YO Fafafed & 3 g &R 3 gifad g &-
1. HI T 36X

2. A B UGS FRUfd

3. "I h1 1Y

Options :

1. % ad 1 3R 2

2. % Had 2 3R 3

3. % Had 1 3R 3

4.9 1,2 3R 3

Question Number : 134 Question Id : 59445943761 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The zygote attaches itself to the lining of which of the following?
Options :

1. # Vagina

2. % Uterus

3. # Cervix

4. % Rectum

Question Number : 134 Question Id : 59445943761 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



g i o € fode! Rd A 98 §rdr 32
Options :

1. % g

2. ¢ THRE

3. % Ylar

4. % OARK

Question Number : 135 Question Id : 59445943762 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following dyes is not obtained from plants?
Options :

1. % Madder

2. % Indigo

3. % Henna

4. ¥ Vat

Question Number : 135 Question Id : 59445943762 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fofafed & 3 oF 91 39 drdl 9 U =g gidT 82
Options :

1. % HimT

2. % Hid

3. % HEgdl

4.9 qc

Question Number : 136 Question Id : 59445943763 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Children’s first temporary teeth starts getting replaced by permanent teeth at which of the following age?



Options :

1. # 3to4 years
2. ¥ 6 to 8 years
3. % 9to 10 years
4. % 10to 12 years

Question Number : 136 Question Id : 59445943763 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafaRad o 9 fow 90 & o= & ugal Srurdt gl o1 Rl gidl § Saa Y= 8! offdl 87
Options :

1. % 3949

2. 698 9d

3. % 9910 9T

4. % 109 12910

Question Number : 137 Question Id : 59445943764 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If'Y is seven months old, which of the following incisors must have erupted in her mouth?
Options :

1. ¥ Central

2. # Lateral

3. % First molars

4. # pre molar

Question Number : 137 Question Id : 59445943764 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe vy I1d Hg &1 8, a1 39 Y | fFufafed § § oF I % Bel g

Options :




1. ¥ Do

2. % T7ef

3. % TqUIh (UGl aTg)
4. % 3FEAUG (W HITR)

Question Number : 138 Question Id : 59445943765 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the quantity or quality of food items are altered by adding or removing something in it, the process is called
Options :

1. ¥ Adulteration

2. # Advertisement

3. % Standardized marks

4. % operation

Question Number : 138 Question Id : 59445943765 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g Ty uerif &t U a1 U B $© SIS I gelaR dad fadl STl 8, df ufshar &l HET ST |
Options :

1. ¢ firdrae

2. % fazu

3. % gH®IPd 3

4. % 3{OR-H

Question Number : 139 Question Id : 59445943766 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is an inhibitor found in pulse?
Options :

1. ¥ Trypsin



2. % Pepsin
3. # Biotin
4. # Avadin

Question Number : 139 Question Id : 59445943766 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e & @ P91 3T B U7 S AT SR 82
Options :

1. ¢ TR

2. % O

3. % e

4. % 3fadH

Question Number : 140 Question Id : 59445943767 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not a Tie and Dye Technique?
Options :

1. % Marbling

2. % Binding

3. ¥ Batik

4. % Knotting

Question Number : 140 Question Id : 59445943767 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fofifed & 9 1w d896 (@18 3R ST8) db-1d ol 82
Options :

1. % T ST (HIET)

2. % AT (SEEM)



3. ¥ dlfich
4. % TI& SIAT (IRET)
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Group Id : 5944591014
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
Discipline3
Section Id : 5944591739
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 5944592025
Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 59445943768 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



National Literacy Mission is targeting which of the following age group?
Options :

1. % Below 15 years

2. ® 35-44 years

3. % 15-35 years

4. % 15-65 years

Question Number : 141 Question Id : 59445943768 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST wreRar B fafafed # 9 e org o ot afdd s T
Options :

1. % 159 Y HH

2. % 354491

3. ¢ 15-35 91

4. % 15-65 9T

Question Number : 142 Question Id : 59445943769 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following nutrients are responsible for green ring formation in boiled egg?
I. Iron

II. Protein

II1. Hydrogen

IV. Sulphur

V. Copper

Options :

1. # Il and III

2. % [l and V

3. 1, Il and IV
4. % [Tand V



Question Number : 142 Question Id : 59445943769 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 3fS T R aed & 10T & fou »iH 9 ives dd fomiaR &2
I. 3RRA

1L e

111 B SIS

IV. Heth
V. PIUR
Options :

1. % 13RI
2. % 3RV

3.9 13RIV

4. % 3RV

Question Number : 143 Question Id : 59445943770 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Put the following foods in increasing order according to their sodium content per 100 g
I. Banana

II. Egg

III. Tomato

IV. Spinach

V. Musk Melon

VI. Meat

Options :

1. % 1V, V,IIL I, VI, II
2. % LILIV,V, VLI
3.1V, LIOL V, VL 11
4, % 11,1V, V, I, II, VI

Question Number : 143 Question Id : 59445943770 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



frafeiad @re uerdf & ufd 100 T Sifsaw Al & SFUR dgd HH H 39
]

11. 3{ET

[1I. HICR

IV. Ul

V. BRI RS

VL. O

Options :

1. % 1V, V, 11, I, VL, I
2. % LULIV,V, VLI
3. IV, LIIL V, VL, I
4. % 1L IV, V, 11, VI

Question Number : 144 Question Id : 59445943771 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following sources can be known as family income?
1. Interest received from banks

2. Rent

3. Salary of family members

Options :

1. % 1and 2 only
2. % 3 only

3. % 1 and 3 only
4.9 1,2and 3

Question Number : 144 Question Id : 59445943771 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefaa & 3 g W@ia & uikaiRe 3 9id Iod 82
1. S QU g 9Tel1 AT

2. fopman

3. URAR & | &l daH




Options :

1. % Had 1 3R 2
2. % $Had 3

3. % Pad | 3R 3
4.9 1,233

Question Number : 145 Question Id : 59445943772 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following information have to be engraved or printed on the label of a product?
1. Name of the product

2. Guarantee period

3. Product Price

4. Directions to use the product

5. Warnings and precautions to be kept in mind while using the product

Choose the correct code-

Options :

1. % Only 1,2,3
2. % Only 1,2,3,4
3.91,2,3,4,5
4. % Only 1,2,3,5

Question Number : 145 Question Id : 59445943772 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AR § I DF I STHSHRI &1 IdTe & dad IR 361 a1 Jfad g1 del?
1. 3G BT A1

2. TR 3{afy

3. IdIG I HIA

4. IdTE & YA & foru e

5. 301G & YANT & THY T S arelt Jdraf-ar g graenfat

e BIS A

Options :




1. % PHad 1,2,3
2. % Had 1,2,3,4
3.91,2,3,4,5
4. % HAd1,2,3,5

Question Number : 146 Question Id : 59445943773 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A child exhibits a behaviour of destroying things he gets in hand. Which of the following can be a meaning of this behaviour?
1. The child is feeling helpless

2. The child is seeking attention

3. The child is feeling tired

Options :

1. % Only 1 and 3
2. % Only 2 and 3
3.4 Only 1 and 2
4. % 1,2 and 3

Question Number : 146 Question Id : 59445943773 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U §=1 81 H fie aTelt Foil b1 7Y B &1 TagR UeiRid &dl ¢ | Fufafad # 9 59 suagR &1 31 o1 81 Iahdi 82
1. ST 3BT HE Yy R W61 §

2. S A AT

3. ST YHT AT HEqH I I8 §

Options :

1. % Had 1 3R 3
2. % Had 2 3R 3
3. Pad | 3R 2
4. % 1,23R3

Question Number : 147 Question Id : 59445943774 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following standardization mark is used for gold jewellery?
Options :

1. ¥ Hall mark

2. % FPO

3. % Agmark

4. % Ecomark

Question Number : 147 Question Id : 59445943774 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRed § I &I 91 AFs vl fug TH & STYHoT & fTe TainT fam ST 82
Options :

1. ¢ gl HIb

2. % UL

3. % WMHD

4. % THHD

Question Number : 148 Question Id : 59445943775 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
are the smallest of all fibers.

Options :

1. % Acrylic

2. % Rayon

3. ¥ Cotton

4. % Wool

Question Number : 148 Question Id : 59445943775 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



 ofidgei i aeu e g gl
Options :

1. % Tlchferp

2. % WM

3. ¢ HUH

4. % $HA

Question Number : 149 Question Id : 59445943776 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statements is not true?
Options :

1. # Rayon fibers are thermoplastic in nature
2. # Synthetic fibers catch fire easily

3. ¥ Silk is weaker than wool

4. % Wool is a weak fiber

Question Number : 149 Question Id : 59445943776 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFrafifed sy 8 P g T

Options :

1. % g dq Upfa § augeed §

2. % P dg (Ridfew BRER) SNF ¥ 3 UHS dd o
3. ¢ M (Riep), 7T FHOIR §

4. % 3 TP HHGIR dg (M) §

Question Number : 150 Question Id : 59445943777 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is known as the ‘Queen of fibers’



Options :
1. % Nylon
2. ¥ Silk
3. % Cotton
4. ¥ Wool

Question Number : 150 Question Id : 59445943777 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
DI dgefl B I S Y A SET 1 |
Options :
1. % e
2. ¥ H
3. % dUN
4. % 5

Question Number : 151 Question Id : 59445943778 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FafRad Syl & A o 91 9 T8 52
Options :

1. % HUN U ST UgUN &l o

2. % 3 Ryeae T8 usd 8
3. ¢ fo  Ryae s ¥ T8l usdt 8§
4. % g § Rydad A 9 us Sl 8

Question Number : 151 Question Id : 59445943778 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statements is not true?
Options :



1. # Cotton gives a cool feeling
2. % Wool does not wrinkle easily
3. % Linen does not wrinkle easily

4. # Rayon wrinkles easily

Question Number : 152 Question Id : 59445943779 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fibers can be identified by using Burning Test. Which of the following fibers shrink on approaching flame?
Options :

1. ¥ Nylon

2. % Cotton

3. % Rayon

4. # Linen

Question Number : 152 Question Id : 59445943779 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

§fT T (Burning Test) BT STANT B BIIER B UgdM ! ol Adbcll ¢ | FERIRGd § § DIF A1 dg Al & e oM R Rigs Irar g2
Options :

1. ¢ e

2. % oU™

3. % M

4. % o

Question Number : 153 Question Id : 59445943780 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statements is not true for Khadi?
Options :

1. % Khadi is a fabric made from hand spun yarn



2. % Khadi is a fabric that is woven on handloom
3. % Khadi has a smooth texture and smooth feel
4. # Khadi movement was started by Gandhiji

Question Number : 153 Question Id : 59445943780 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e # 3 & a1 HyT el & forg It T8t 32
Options :

1. % @) BT BT Y A &1 Ub HUST 2

2. % W4l THh U1 HUST & o gYHYET IR T o1l §

3. ¢ Gid) 8§ U e srae 3R R meq@ i g
4. % QY 3figrad Mol gRT IR favar mar ot

Question Number : 154 Question Id : 59445943781 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is not true for Development of child?

Options :

1. # Developments of all human beings follow a similar pattern.

2. ® Development proceeds from central part of the body towards peripheries

3. # All types of developments, e.g, physical, mental, social and emotional are related to each other.

4. ¥ Development occurs at the same rates for the different parts of the body.

Question Number : 154 Question Id : 59445943781 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FAfIRad & I DI 91 HuH 9 & [AHN & e 9! a1 82
Options :

1. % Tt 77 & [9TI U 90 Ufaed &1 UIaH $Rd §
2. % AP IRR & A HIT A IR ot 3R dgar g




3. % Ml YR & faom, S, RIS, AFRIG, FHIE 3R HIaTHS Uh gax 3 Jd6fid §
4. ¢ IR & faftre fewaf & fore faprg g I R Ear g

Question Number : 155 Question Id : 59445943782 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the context of child development, proximodistal sequence means

Options :

1. # Each child may have a different rate of development

2. #® Development spreads over from head to foot

3. ¥ Development proceeds from central part of the body towards peripheries

4. ® Development is predictable

Question Number : 155 Question Id : 59445943782 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

a1 faoprg & g & UifRmfeed 1 &1 3 gl
Options :

1. % U T P [dHN B U 3T &R 81 Uil §

2. % TH RR AR TP Badr g

3. ¢ {3 IRR & A& U A URFY o1 iR ggar g

4. % fq@Tg AT §

Question Number : 156 Question Id : 59445943783 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is not true in respect of maturation and learning?
Options :

1. ® Development is the product of maturation and learning

2. ¥ Learning comes from individual’s genetic inheritance

3. # Learning is the development that comes from efforts and practice



4. % Maturation cannot go beyond a certain point

Question Number : 156 Question Id : 59445943783 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafafad & 9 o9 91wy uRusdr oIk dies & Jdy & 9 18 32
Options :

1. % Ty ufkuesar 3R T &1 3drg 8

2. ¢ RS, fad Bt AR faRa § orar g

3. % W, 98 fasT B S vt SR Snar & ST §

4. % URUHar T M fig ¥ om 1et o wahcht

Question Number : 157 Question Id : 59445943784 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is true about Cognitive Development?
Options :

1. ¥ It is how children learn and process information

2. # It includes gross motor skill and fine motor skills

3. # It focuses on how emotions are developed

4. ® It develops social skills

Question Number : 157 Question Id : 59445943784 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IS AN & IR § FEfRad & 9 &F I HY= 9d g2

Options :

1. ¢ 9 {69 TR Rad € SR Y1 &1 ST aRd &, I8 S99 T Id §
2. % ZTH JoHd AL DI 3R 3V Ale DI M &

3. % U 39 910 R Had g [ Hia-sf & o3 fawRid forar Srar g

4. % Ug IS BN fabRid Har g




Question Number : 158 Question Id : 59445943785 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not one of the major values classified by Parker?
Options :

1. # Health

2. % Ambition

3. ®# Knowledge and wisdom

4. ¥ Wealth

Question Number : 158 Question Id : 59445943785 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad # 9 S1F-91 R gRT avfidd UHE Jedi # 9 U6 el 82
Options :

1. % WY

2. % TETDIE

3. % §H RS

4. Y-

Question Number : 159 Question Id : 59445943786 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not a filling stitch?
1. Stem Stitch

2. Satin Stitch

3. Darning Stitch

Options :

1. ¥ Only 1

2. % Only 2 and 3
3. % Only 2



4. % Only 3

Question Number : 159 Question Id : 59445943786 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Foffad 7 3 o @ wRE-Rars (Wi fea) 761 o
1. %H e

2. gife Ryarg

3. SIT Ryes

Options :

1. ¥ &ad 1

2. % $Had 2 3R 3

3. % had 2

4. % Had 3

Question Number : 160 Question Id : 59445943787 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many types of blood-groups are known in humans?
Options :

1.¥ 4

2.%5

3.% 6

4. % 7

Question Number : 160 Question Id : 59445943787 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 ¥ fhdn UhR & I9d THE 71d o2
Options :

1.¥ 4

2. %5




3.% 6
4. %17
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Question Number : 161 Question Id : 59445943788 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Who defines children with behavioural disorders as “those who chronically and markedly respond to their environment in socially
unacceptable/personally unsatisfied ways but who can be taught more socially acceptable and personally gratifying behaviour”?

Options :

1. ¥ Kauffa
2. # Baker
3. ¥ Brown

4. % Brandt

Question Number : 161 Question Id : 59445943788 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fore SgagR el fasRT aret sl o1 gRHI foha 8 &1 g d & Sl GHTfoieh ¥ § SRdThTl/aafRiTd ¥ F SRy aiah! I So
Taferur & Ufa ddawifere iR Wy =u § ufaferar e 8, dfd forg 31fie qrnfore U § Wierd 8ik aafadid U J Igfderas
TR Raman o Tl 32

Options :

1. ¥ BIGT

2. % gHY

3. % 9134

4. % gl

Question Number : 162 Question Id : 59445943789 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the largest gland in the human-body?
Options :

1. # Heart

2. % Kidney

3. % Lung

4. ¥ Liver

Question Number : 162 Question Id : 59445943789 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

fafeiad 7 @ HH-a1f A19a IRR &) gad Tt U 32
Options :

1. % gau

Question Number : 163 Question Id : 59445943790 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What percentage of the human blood is proteins?
Options :

1. # 90-92 percent

2. ¥ 6-8 percent

3. % 1-2 percent

4. # 10-12 percent

Question Number : 163 Question Id : 59445943790 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A 35 BT fora1 wfa=rd W giar g2
Options :

1. % 90-92 gfc=rd

2. ¢ 6-8 UfaRId

3. % 12 gfa=rd

4. % 10-12 gfa=rd

Question Number : 164 Question Id : 59445943791 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of the following is not a form of PEM (Protein Energy Malnutrition)?
Options :

1. # Kwashiorkor

2. % Marasmus

3. # Nutritional Dwarfing or Stunting

4. ¥ Osteoporosis

Question Number : 164 Question Id : 59445943791 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafifea # 3 oF fEa (@idH Sl $UIY) &1 UH 9 761 82
Options :

1. % BIRHRDR

2. % TRIELY (@13

3. % TUINER S0 a1 €T

4. ¢ JHTRCIIRIRFT (STRG R

Question Number : 165 Question Id : 59445943792 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Adult rickets is caused due to deficiency of-
Options :

1. ¥ 7 - dehydrocholestrol

2. # Tocopherol

3. % Ascorbic Acid

4. # Pantothenic Acid

Question Number : 165 Question Id : 59445943792 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TRTGAT (T Ry a1 TS ee Ravcy) forad! HHt & HRUBIdT 87

Options :



i - N\ A\

1. ¢ 7 - SlgRglpldwid
2. % DRI
3. % TWlad TRTS

4. % e TS

Question Number : 166 Question Id : 59445943793 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A colour combination of Yellow, Yellow Green, Violet and Red Violet, is an example of-
Options :

1. # Complementary Colour Scheme

2. ¥ Double complementary colour harmony

3. # Split complementary colour harmony

4. ® Tetrad

Question Number : 166 Question Id : 59445943793 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

i, Ul g1, ST STR ATe ST 3T 1 Ao fhaen] T 3aTeRul 82
Options :

1. # Rp RURS B (Complementary Colour Scheme)

2. ¥ A TR T Ye&ld (Double complementary colour harmony)

3. ® ﬁ‘l-ll\rl"l-lﬂ\icb PR EALS) (Split complementary colour harmony)

4, % CTTS (Tetrad)

Question Number : 167 Question Id : 59445943794 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who out of the following has given nine degrees of value scales ranging from white to black?
Options :

1. ¥ Dr. Denman W. Ross



2. * Louis Valtat
3. #* Carlos Luis de Ribera
4. % Eduardo Rosales

Question Number : 167 Question Id : 59445943794 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Frafefad & ¥ fora wthe 3 a1 % ) f33h Ame wha fau
Options :

1. ¢ ST S0 S&g

2. % g dleelc

3. % HIAN qgY of R

4. ® UG3MTS! AT

Question Number : 168 Question Id : 59445943795 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

To ensure roominess the length of the room should not exceed the width of the room by-
Options :

1. ¥ 11/2 times

2. % 5/4 times

3. % 7/3 times

4. % 27/4 times

Question Number : 168 Question Id : 59445943795 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HHR P! A=A B! GRYT HA & O, TR I T AP AeR T STl gl gl aney|
Options :

L« 11271

2. % 5/471




3. % 7/37A
4, % 27/4 T

Question Number : 169 Question Id : 59445943796 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the best type kitchen, since it has optimum work triangle?
Options :

1. * One-wall kitchen

2. % U shaped kitchen

3. % L shaped kitchen

4. % Separate unit kitchen

Question Number : 169 Question Id : 59445943796 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3G AH B FAYS 1H R, FafaRad & 9 SHw1 34 Jad 35T 57
Options :

1. % U AR 318

2. % T PR W5

3. ¥ U SR TS

4. % IS I 3T 3bTS

Question Number : 170 Question Id : 59445943797 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the option which is matched incorrectly-
Options :

1. % Vitamin B - Pyridoxine

2. ® Vitamin B, - Riboflavin

3. ® Vitamin B; - Thiamine



4. # Vitamin C - Niacin

Question Number : 170 Question Id : 59445943797 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
I fawey gfu ot Tad gaferd 8-
Options :

1. % {qeTfi B, - UrgRSIfoR

2. % f3eTfiF B, - TSR

3. % faerfeq B, - yrafe

4. ¢ fqerftF ¢ - A=

Question Number : 171 Question Id : 59445943798 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the process of stiffening materials to yarns or fabrics?
Options :

1. # Calendering

2. # Tentering

3. ¥ Sizing

4. % Mercerization

Question Number : 171 Question Id : 59445943798 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiRad & @ e -t IrEh, uml a1 HuS) Bl Fd B B UlhaT 82
Options :

1. % PSR

2. % def

3. ¢ TR

4. % TR



Question Number : 172 Question Id : 59445943799 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is incorrect?

Options :

1. # Cold water or salt or borax solution can be used to wash off blood-stains on linen
2. % Warm water or hydrogen peroxide can be used to wash off coffee-stains on linen
3. ¥ Glycerin or benzene can be used to wash off ink-stains on linen

4. ® Kerosene or turpentine can be used to wash off paint-stains on linen

Question Number : 172 Question Id : 59445943799 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiad 7 @ o 91 U 7Tad 82

Options :

1. % AT R YT & ¥ 419 & O1U 38 Tt a1 0 a1 SR FHI BT IUTNT fohaT off TavdT §
2. % o R BIH1-EAT 4F & T TH Ut 31 BIS g iom RIGTS S &1 IUANT foedT off Fehal §

3. ¢ o IR WTEl-arT 91 & g e a1 Soi 1 SUaT forat off Tavdl §

4. % o W Ye-gr 9F & foe frgl & o a1 aRU &1 I9anT fasan ST Iabdl §

Question Number : 173 Question Id : 59445943800 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What need not be kept in mind while making spending plan?

Options :

1. # Keep in mind all the income and facilities available to you for the period for which you are making the spending plan.
2. % List all the requirements (commodities and services) needed by the family members for that period.

3. % Do not prioritize your needs as it will disturb the spending.

4. % Allocate funds keeping in mind the total income. This will help in effective utilization of money and other resources.



Question Number : 173 Question Id : 59445943800 Question Type
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

{1 <1l ! g AIoH1 §1d dad &9 | o) X@-T 9ligd?

Options :

: MCQ Option Shuffling : Yes Is Question Mandatory : No Option

1. % I A & fOIY 30 Uy Iuasy 1T qUT Jfaursil &1 e # 39, o 3afy & e oqg e s 5|
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Question Number : 174 Question Id : 59445943801 Question Type
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Consider the following waste products —

1. Human waste

2. Plastics

3. Food-waste

Which of the above given waste-materials are biodegradable?

Options :

1. % Only 1 and 2
2. % Only2and 3
3. % Only 1 and 3
4. % 1,2and3

Question Number : 174 Question Id : 59445943801 Question Type
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad Srafiy uerdf iR foaR &% -

1. {91 Uiy

2. | IRCH

3. WTY-3(UfRy

SWIed # T ST SuRy-uerd Sasasa-iy g2

Options :

: MCQ Option Shuffling : Yes Is Question Mandatory : No Option

: MCQ Option Shuffling : Yes Is Question Mandatory : No Option



1. % %ad 1 3R 2
2. % Had 2 3R 3
3. PHad | 3R 3
4. % 1,2 3R 3

Question Number : 175 Question Id : 59445943802 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Consider the following diseases—

1. Cholera

2. Jaundice

3. Typhoid

Which of the above diseases can be prevented by adopting hygienic practices?

Options :

1. * Only I and 2
2. % Only 2 and 3
3. % Only I and 3
4.4 1,2and 3

Question Number : 175 Question Id : 59445943802 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAafeRad T R faaR oi-

1. gol

2. Uifera

3. ClkWIgs

WAl & AD! Bl SUATHR IR H Y 3 A7 1 AehT o1 el 82

Options :

1. % Had 1 3R 2
2. % Had 2 3R 3
3. % PHad 1 3R 3
4.9 1,233



Question Number : 176 Question Id : 59445943803 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What does the ‘airing’ of fabrics help in?
Options :

1. ¥ Removing stain from the fabric

2. % Removing loose dirt from fabrics

3. % Removing bad odours from fabric

4. ¥ Removing colours of the fabric

Question Number : 176 Question Id : 59445943803 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

“gaT T (Airing)” BT UGN HUS| H ford THR I BT T 3ATd1 82
Options :

1. ¥ HUS Y TN o fog

2. % HUSI W W SU YT Bl HebTer & ferg

3. ¢ HUS| Y A aTcl! G~ DI GR P o fo1g

4. % HUSI YT geH & forg

Question Number : 177 Question Id : 59445943804 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Consider the following colours -

1. Yellow

2. Purple

3. Orange

Which of the above are secondary-colours?

Options :
1. % Only 1 and 2
2.% Only 2 and 3



3. % Only 1 and 3
4, % 1,2 and 3

Question Number : 177 Question Id : 59445943804 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fraforRad T o faaR &-

1. gie

2. ST

3. AR
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Options :

|. % Ppad | 3R 2
2. ¢ HAA 2 3R 3
3. % PHad | 3R 3
4. % 1,233

Question Number : 178 Question Id : 59445943805 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following vaccines needs to be given to the baby at birth?
Options :

1. * TT

2. % MMR

3. % DT

4. ¥ BCG

Question Number : 178 Question Id : 59445943805 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFgfefad & ¥ o 1 doT 9= & 9 & 98y fear S Tnfgw?

Options :



1. % A (TT)

2. % THTASR (MMR)
3. % 31 (D)

4. ¢ &S (BCG)

Question Number : 179 Question Id : 59445943806 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

An adolescent trying to prove to their friends that he is too ‘macho’ and even resorting to indulge in alcoholism, smoking and may even taking
drugs is an example of

Options :

1. # Social problems
2. % Personal problems
3. % Peer pressure

4. # Eating disorders

Question Number : 179 Question Id : 59445943806 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS HRIR 30 GG B! T§ TIad B B HIRIRT B 81 § 19 a8 9gd HaMT § 3R T8 dh (o IRTE, YHIH 3R 7 i ol 5, T8
&1 TP 3aTeRU 5|
Options :

1. % gHTTSS UMY
2. % HiGdiTd HEY
3. ¥ gHHI qa1d
4. % ¥H & f9BR

Question Number : 180 Question Id : 59445943807 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is incorrect?
Options :



1. ¥ Fermentation takes place in anaerobic conditions
2. # Fermentation is carried out by microorganisms
3. ¥ High energy is released during anaerobic respiration

4. ®% The ATP is known as the energy currency of the cell

Question Number : 180 Question Id : 59445943807 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFrafaRad o 9 &F 91 7Ted g2

Options :
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Discipline5

Group Number : 10

Group Id : 5944591016
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Section Number : 1
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Question Number : 181 Question Id : 59445943808 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following has an open circulatory system?
Options :

1. ¥ Cockroaches

2. * Humans

3. * Earthworms

4. * Squids

Question Number : 181 Question Id : 59445943808 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e # 3 fraw T o aRE=Ro 4 32

Options :

Question Number : 182 Question Id : 59445943809 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Protein metabolism doesn’t result in
Options :

1. ¥ Ammonia

2. % Urea

3. % Uric acid

4. ¥ Acetic acid

Question Number : 182 Question Id : 59445943809 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T =TT 1 aRuTH EEGCIE]
Options :

1. % I

2. % Rl

3. % gRe TRYS

4. ¢ TRHfes RIS

Question Number : 183 Question Id : 59445943810 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following human body-parts is the Bowman’s capsule related to?
Options :

1. % Heart

2. ® Brain

3. ¥ Kidney

4. % Liver

Question Number : 183 Question Id : 59445943810 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoad §  Ad IRR & 59 31 I 99 Sy Jefdd 82



Options :

1. % gad

2. % ARTSH

3. «qa?:ﬁd%s:il)
4. % iR @P)

Question Number : 184 Question Id : 59445943811 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following cooking-methods uses fat as a medium of cooking?
Options :

1. # Grilling

2. # Steaming

3. % Sauteing

4. # Baking

Question Number : 184 Question Id : 59445943811 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiad 7 @ o T W@ U™ o1 {3 931 3! @1 UsM & 310 & 0 § IUANT B g2
Options :

1. % ffc

2. % W

3. ¢ ifeT

4. % qfhT

Question Number : 185 Question Id : 59445943812 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fish liver oil is an excellent source of
Options :



1. # Vitamin A only

2. % Vitamins A and D

3. # Vitamin C only

4. ® Vitamins B and C only

Question Number : 185 Question Id : 59445943812 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TSl & PR &1 dd BT TP 3PP Al 5|
Options :

1. % oad fqefi A

2. ¢ faerffm A SR D

3. % Bad faerfi ¢

4. % $aq [qefA B 3R C

Question Number : 186 Question Id : 59445943813 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Everyone has limited resources to achieve the goals. Which of the following is not a way to use resources efficiently?
Options :

1. #® Find alternative ways of using resources

2. # Find ways to make resources last longer

3. ¥ Conserve resources even by depriving others

4. % Make sure not to waste resource

Question Number : 186 Question Id : 59445943813 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT P U X b e Tt & T T Fmed & | FEfeied § ¥ & F-91 Su1e! &1 SRAargdd SUART B Bl deibl Ta! 62
Options :

1. % QI BT ITAN B & dbiedd aid @l




2. % AGTEE Bl dd THI 6 A b dlp Giol
3.« QIR ol dferd B Y AT T TREUT B
4. % AT B fob Ta1e= daig T 71

Question Number : 187 Question Id : 59445943814 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

There are Four steps in a management process. Which of the following options is in proper order?
Options :

1. # Organizing, Planning, Evaluating, Implementing

2. # Organizing, Planning, Implementing, Evaluating

3. ¥ Planning, Organizing, Implementing, Evaluating

4. % Planning, Organizing, Evaluating, Implementing

Question Number : 187 Question Id : 59445943814 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gse Ufhar § IR TRU B 8 | Fufifad A @ o9 a1 fasau SRa sa A 82
Options :

1. % STSH, TSI, Gei, Hra-aa-

2. % TISH, IoHT, HIATaa-, Gedidh

3. ¢ TISHI, 3TASH, HTa-aa-, Hedid-

4. % TSI, TS, Hedidh, HAFaa

Question Number : 188 Question Id : 59445943815 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not true?

Options :

1. ® Human resources are those resources which belong to the person and cannot be taken away by others

2. % Human resources are those resources which belong to the person and can be taken away by others



3. # Non-human resources can belong to the person or the community.

4. % Non-Human resources can be taken over or shared by others

Question Number : 188 Question Id : 59445943815 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

$TH A DI 1 e el 8

Options :

1. % TTa AT o TTEH g Sl Ao & § SR GERI gRT Aa] B4 off ¥dhd §
2. ¢ U Y1 3 W18 § S SAfad & & SR gER) gRT ©14 Sff Tdhd &

3. % IR-AMG GTe i a1 IHe | Yafid 8 9od §

4. % TR G DI gIRI gRT foran a1 wrgn foram S Iabdi 8

Question Number : 189 Question Id : 59445943816 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not a step in Time planning?

Options :

1. # Listing all the activities to be performed on a day and grouping them in to flexible and non-flexible.
2. ® Estimating time required for each activity

3. ® Balancing the activities to be performed within a given time

4. ¥ Not assigning any particular timing to each and every activity.

Question Number : 189 Question Id : 59445943816 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeied & 9§ o 95 e &1 R0 61 62

Options :

1. % T fa o & o arett 9t nfafafie & gefiag &A1 3R S adid 3R TR-adid Sor o wfed &=
2. % TS TMafdfd & o sra=dges T6 &1 S{THH AT

3. % U (Y I9g & fieR o1 S areft fafaferal o ddferd s




4. ¢ Y& Tfafafy & fore o8 foriy g Ay 78t wn

Question Number : 190 Question Id : 59445943817 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Different types of activities require different amount of energies. Which of the following activities come under the category of Heavy Activity?
Options :

1. # Reading

2. % Watching TV

3. % Cooking

4. ¥ Mopping

Question Number : 190 Question Id : 59445943817 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafie UBR Bt Tfaferdt & forg S1er-Se A1  SHoll B! SMaRadhdl sidt o | FHafaRad & 9 o I fafafeml ut wfafafy ot goft o
3Tl 82

Options :

1. % Y-l

2. % CIdl q=H

3. % Ul hdl

RIS

Sub-Section Number : 2
Sub-Section Id : 5944592028
Question Shuffling Allowed : Yes

Question Number : 191 Question Id : 59445943818 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is not a way to save energy?
Options :

1. ¥ Chatting with friends while working to reduce stress



2. # Cutting extra movements and combining activities
3. # Developing skill to perform any activity

4. # Using labour-saving devices

Question Number : 191 Question Id : 59445943818 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

el & ¥ S Sul aam &1 w781 82

Options :

1. ¥ TG & TR & (o1 HTH HRd THT IRl o A1 I HAT
2. % 3ffafxad Tfafafial & werdt oik Tfafafer o1 daier

3. % forddt ot Tfafafd ) A & e e fasRad &

4. % Y-S SUBUN BT STANT BRI

Question Number : 192 Question Id : 59445943819 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following cannot be treated as a characteristic of a good budget?
Options :

1. ¥ Accurate estimate of Income

2. ® Accurate estimate of expenditure

3. ¥ Preparing a fixed budget to stick to the plan

4. ® Reasonably accurate allocation of money

Question Number : 192 Question Id : 59445943819 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad @ 9 frd U s aoic o1 fa=Ivdr & U H g1 U1 S 9T 82
Options :

1. % 31 BT b UM DA

2. % Y BT Y STHM DA




3. ¢ YoM IR 94 384 & ol Tep AT Soie duR A1
4. % U &1 IR ISP 3MdeT HAT

Question Number : 193 Question Id : 59445943820 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is a common physical change among boys and girls during adolescence?
Options :

1. # Broadening of shoulders

2. # Broadening of hips

3. % Pimples

4. # Desire to eat junk food

Question Number : 193 Question Id : 59445943820 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiad 7 9 o a1 uRadH fPeiRew & deo! g aefedl # 99 U 3 glar g2
Options :

1. % HU BT ISR

2. % {4l BT IST BT

3. ¢ g

4. % b S TH DI 5w

Question Number : 194 Question Id : 59445943821 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ethics and values are important in family and society. Values are

1. Ideas

2. Beliefs

3. Virtues learnt from the childhood

4. Moral standard set by the society

Choose the correct code-

Options :



1. % land2
2. % 3and 4
3. % 1,2,3and 4
4.4 1,2, and 3

Question Number : 194 Question Id : 59445943821 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ORAR 3R AT # Afdedr $iR I gyl § | 99 §
1. foar

2. fayrg
3. STCATIRIT I G 0T
4. ATt g1 fReifed Afde o

T BIS -
Options :

1. % 13R2

2. % 33R4
3.% 1,2,3 34
4.9 1,2,3R3

Question Number : 195 Question Id : 59445943822 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is not true?

Options :

1. # Values are ideas and beliefs that we learn from our childhood
2. # Ethics test our values

3. % Values test our ethics

4. % Ethics is the way we behave in difficult situation

Question Number : 195 Question Id : 59445943822 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
fFofefad & ¥ 9 By 3 82

Options :

1. % Tou d fagR 98 GYURUN g fo75 89 999 ¥ Arad §
2. % AfJHd SR Tl ! Slrd Bl §

3. ¢ Yo R Afdddl i Sird $dl §

4. % Afqpd 98 T & Y 519 BT uRfRufa & HagR #RA

Question Number : 196 Question Id : 59445943823 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Examples of Cellulosic fibers are
1. Cotton

2. Linen

3. Wool

4. Silk

Choose the correct code

Options :

1.4 1,2 only
2. % 1,4 only
3. % 1,2,3 only
4. % 1,2,3.4

Question Number : 196 Question Id : 59445943823 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YD dd b ISERUI &

1. pU™

2. ferH

3.3

4,331

Tl Dl fafgd H-

Options :




1.¥ Had 1,2
2. % Had 1,4
3.% BHad 1,2, 3

4. % 1,2,3,4

Question Number : 197 Question Id : 59445943824 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rayon is an example of fibers.
Options :

1. ¥ Regenerated

2. ®* Synthetic

3. #® Cellulosic

4. % Protein

Question Number : 197 Question Id : 59445943824 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
RuIE| BIER B TP ISR 5|
Options :

1. ¢ g: FfHd (geiifaa)

2. % f§dfess (@A)

3. % Yogaliiih

4. % UIdH

Question Number : 198 Question Id : 59445943825 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Polyester is an example of fibers.
Options :

1. * Natural



2. % Protein
3. % Cellulosic
4. ¥ Synthetic

Question Number : 198 Question Id : 59445943825 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Ty dd H13eeRUS
Options :

1. % YIpidd

2. % g

3. % Yogalliiieh

4. ¢ Ridfed (@A)

Question Number : 199 Question Id : 59445943826 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not true about different kind of Fibers?
Options :

1. ® Synthetic Fibers are made of petro-chemical products.

2. ® Regenerated fibers are a kind of man-made fibers

3. #® Protein fibers come from animal sources

4. % Cellulosic fibers are man-made fibers

Question Number : 199 Question Id : 59445943826 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faftrs GepR o ¥ & SR H FafeRad & 9 &1 a1 9 181 82
Options :

1. % HiaH dq FHor Ue-3arH Sare! ¥ fardr S 8

2. % T: IdTed dg A4 HiHd I &1 Th TSR §




3. % QI dq U il @ 3 ©
T TR R o

Question Number : 200 Question Id : 59445943827 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is true?

Options :

1. ¥ Short length fibers are called Staple fibers

2. # Short length fibers are called Filaments

3. % Filaments are measured in inches or centimeters

4. % Staple Fibers are measured in yards or meters

Question Number : 200 Question Id : 59445943827 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
a8 4 oH 9 SUT 9 82

Options :

1. ¢ B da8 & a3l B! TUd dd PHel ol &
2. % BT AT P <= DI {haHe Hgl orar &
3. % fraic &1 $9 a1 Y & TmoT Srar g
4. % RUA BTSSR &1 7o T Hex T {707 o1l §



